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Correct Marks: 2 WrongMarks: 0



Peer group interaction in a classroom helps in

(1) Concept understanding
(2) Realization of One's misunderstanding
(3) Rapport Building
(4) Questioning
Options:
64635090139, 1
64635090140, 2

64535030141, 3
64535030142, 4

Question Number : 1 Question Id : 64635022964 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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64535090139, 1
64535030140, 2
648350390141, =2
64535030142, 4

Question Number : 2 Question Id : 64635022965 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When the learning outcomes of students are ensured with employment of less resources and
effort on the part of a teacher and more imitiative for self-learning 15 evident, which of the

following expression will describe the teacher most appropriately?

(1) Teacher 1s successful (2) Teacher is effective
(3) Teacher is intelligent (4) Teacher 1s practical
Options:

645350390142, 1
E4E35030144. 2
E45350390145. 3
64535030146, 4
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Correct Marks: 2 WrongMarks: 0
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Options:

645350501421
64535030144, 2
645350390145, 3
E4EZ503014E. 4

Question Number : 3 Question Id : 64635022966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Reflective Practice implies use of one’s

(1) Cognition (2) Metacognition
(3) Metacognition on cognition (4) Renforcement of learning
Options:

64535030147, 1
645350390145, 2
E4E35030143. 3
E4E35030150. 4

Question Number : 3 Question Id : 64635022966 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535030147, 1
645350301458, 2
645350390149, 3
E4E35030150. 4

Question Number : 4 Question Id : 64635022967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Inclusive education implies

(1) Ensuring learning outcome of every child to be the same
2 Including the disabled in the main stream

(3) Provides compulsory education for children below 14 years
(4) Ensuring that no child is left behind in education

Options:

64535090151, 1
64535030152, 2
64535030153 =
64535030154, 4

Question Number : 4 Question Id : 64635022967 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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CAEZE090151.
64635090152,

E4535030153.
54535030154,
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Question Number : 5 Question Id : 64635022968 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Listening is important for a teacher to

(1) address the requurement of the learner

(2) gain knowledge

(3) keep the learner in good humour

(4) evaluate the learner for the progress made
Options:

6453503901551
64535030156, 2
E4E35030157. 3
E4E35030158. 4

Question Number : 5 Question Id : 64635022968 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535090155, 1
64535030156, 2
648350390157, 2
4535090158 4

Question Number : 6 Question Id : 64635022969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A hypothesis should be conceptually

(1) convoluted, complex and generic (2) complex, tough and general
(3) simple, clear and specific (4) obscure, complicated and simple
Options:

64535090155, 1
64535030160, 2
64535030161, 3
64535090162, 4

Question Number : 6 Question Id : 64635022969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535090155, 1
64535030160, 2
645350390161, 3
EAEZ5030162. 4

Question Number : 7 Question Id : 64635022970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



During research, while recording observations if an observer rates an individual based on
the rating given in another aspect of the interaction, this 1s termed as the

(1) Evaluation effect (2) Error of central tendency
(3) Halo effect (4) Categorical effect
Options:

64535030163, 1
64535030164, 2
E4E35030165. 3
E4E3503016E6. 4

Question Number : 7 Question Id : 64635022970 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E45350390163. 1
64535030164, 2
64535030165, 3
645350390166, 4

Question Number : 8 Question Id : 64635022971 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The study of ‘why does stressful living result in heart attack’? Can be classified as

(1) Descriptive research (2y Explanatory research
(3) Correlational research (4) Feasibility research
Options:

64535030167, 1
E4E35030168. 2
E4E35090169. 3
B4E35030170. 4

Question Number : 8 Question Id : 64635022971 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4E350390167. 1
64535030168, 2
645350301645, 3
64535030170, 4

Question Number : 9 Question Id : 64635022972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The formulation of a research problem can be compared to

(1) Laying the foundation of a building (2) Bulding the walls of a home
(3) Polishing the doors of a building (4) Constructing the ceiling of a house

Options:

4535090171, 1
64535030172 2
64535030173 2
64535030174, 4

Question Number : 9 Question Id : 64635022972 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350301711
64535030172 2
64535030173, 3
E4E35030174. 4

Question Number : 10 Question Id : 64635022973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mailed questionnaire, observation, interview and collective questionnaire are instances of

(1) Secondary sources (2) Personal sources
(3) Primary sources (4) Tertiary sources
Options:

645350301751
64535030176, 2
645350390177, 3
EAE35030178. 4

Question Number : 10 Question Id : 64635022973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535090175, 1
64535030176, 2
64535030177, 5
64535030178, 4

Sub-Section Number: 2
Sub-Section Id: 6463501134
Question Shuffling Allowed : Yes

Question Id : 64635022974 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

A business will usually go through a clear set of stages that will make up 1ts orgamsational
life cycle. These stages include introduction, early growth, continuous growth, maturity and
decline. The first stage, the introduction stage, i1z the start-up phase where a business
decides what its core strengths and capabilities are and starts selling its product or service.
At this early stage, the founder or founders will be a part of every aspect of the daily process
of the business. The main goal at this stage is to take off to a good start and make a place in
the market.

The next stage, the early growth phase, aims at increased sales and more development. The
focus at this stage remains on the original product or service but the effort 1s to increase the
market share and venture into related products or services. The main goal is to move the
founder to a more managerial role so more time is spent on managing and building the
business. At this stage, documents and policies need to be developed so any member of the
organisation can see the business any time.

The third stage, the continuous growth stage, requires a systematic structure and more
formal relationships among its participants. At this stage, the resource requirements of the
business need careful handling. The focus 18 on the expansion of the business, keeping in
mind its core strength and capability. A formal organisational structure and a clear
delegation plan are important at this stage.

At the fourth stage of maturity, a business often slows down as the level of innovative energy
may have become weak and the formal structures may have become obstacles. A lot of care 1s
required to prevent decline.

Sub questions

Question Number : 11 Question Id : 64635022975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When will a business create its place in the market?

(1) At maturity (2) At introduction
(3) At early growth (4) At late growth
Options:

E4E35030175. 1
E4E35030180. 2
E4E35030181. =
64535030182, 4

Question Number : 12 Question Id : 64635022976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The founder of a business does not move to a more managerial role at which stage?

(1) Early growth stage (2) Maturity stage
(3) Decline stage (4) Start up stage
Options:

64535030183, 1
E4E35030184. 2
E4E35030185. 3
E4E35030186. 4

Question Number : 13 Question Id : 64635022977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Venturing into related products and services does not mean that a business will

(1) 1gnore the original product

(2) move the founder to a more managerial role
(3) delegate more responsibilities

(4) ignore the related products and services

Options:

4535090187, 1
64535030188, 2
64535030189, =
64535030190, 4

Question Number : 14 Question Id : 64635022978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The resource requirements of a business need careful handling at which stage?

(1) Fourth (2) First
(3) Third (4) Second
Options:

E4E35090191. 1
E4E35030132. 2
645350301383, 3
645350301394, 4

Question Number : 15 Question Id : 64635022979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The slowing down of a business can happen if,

(1) there is a decline in the market share
(2) the level of innovative energy weakens
(3) the managerial roles are not clear

(4) the level of investment declines

Options:

64535090195, 1
E4E35090196. 2
E4535030197. 5
64535030198, 4
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Questions: No

Question Numbers: (11 to 15)
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Sub questions

Question Number : 11 Question Id : 64635022975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535090179,
64535090180,
64835090181,
4535090182,

[ N

Question Number : 12 Question Id : 64635022976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535090183, 1
48350390124, 2
4535090185 2
64535030186, 4

Question Number : 13 Question Id : 64635022977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535090187, 1
64535030188, 2
64535030189, =
64535030190, 4

Question Number : 14 Question Id : 64635022978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4E35090191. 1
E4E35030132. 2
645350301383, 3
645350301394, 4

Question Number : 15 Question Id : 64635022979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535090195, 1
4535030196, 2
64535030197, 5
64535030198, 4

Sub-Section Number: 3
Sub-Section Id: 6463501135
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635022980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Semantic barrier of communication 1s implied when the

(1) signal is lost before reaching the receiver

(2) message transmitted by the source 1s unclear

(3) receiver's attention is diverted

(4) receiver does not understand the meaning of the message
Options:

64535090199, 1
E4E35030200. 2
E4E35030201. 3
BAE35030202. 4

Question Number : 16 Question Id : 64635022980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535090199, 1
48350390200, 2
4535090201, 2
64535030202, 4

Question Number : 17 Question Id : 64635022981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following signifies non-verbal communication in an essential way?

(1) Instructions written on a question paper

(2) Learner attending an online class

(3) The dress code followed by an individual

(4) Yoga instructor teaching yoga poses to the pupils

Options:
6425030203, 1

E4E35030204. 2
E4E35030205. 3
EAE35030206. 4

Question Number : 17 Question Id : 64635022981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
E4E25090202. 1

E4E35030204. 2
E4E35030205. 3
EAE35030206. 4



Question Number : 18 Question Id : 64635022982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Asszertion (A) : Communication presupposes a shared, symbolic environment, a social
relationship even among non-participants

Reason (R): It leads to social interaction, which in combination with other factors
contributes to a sense of community.

Choose the correct option given below :

(1) Both (A) and (R) are true and R 1s the correct explanation of A
(2) Both (A) and (R) are true but R is not the correct explanation of A
(3) (A) 1g true but (R) 1s false

(4) (A) 1s false but (R) is true
Options:
646350902071
E4E35090208. 2
E4E25090209. 2
4235090210, 4

Question Number : 18 Question Id : 64635022982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535030207, 1
E4E350390208. 2
E4535030209. 5
64535030210, 4

Question Number : 19 Question Id : 64635022983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s a stage of intrapersonal communication?

(1) Phatic stage

(2) Intimate stage

(3) Personal stage

(4) Transcendental communication

Options:
4535090211, 1

EAEZ5030212. 2
E4E35030213. 3
B4535030214. 4

Question Number : 19 Question Id : 64635022983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35090211. 1
BAE35030212. 2
64535030213, 3
64535030214, 4

Question Number : 20 Question Id : 64635022984 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a characteristic of modern mass media?

(1) Capital intensive (2) Labour intensive
(3) Sustainable (4) Developmental
Options:

64535090215, 1
64535030216, 2
64535090217, 3
E4EZ5030215. 4



Question Number : 20 Question Id : 64635022984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350390215, 1
E4E35030216. 2
EAE35030217. 3
645350302158, 4

Question Number : 21 Question Id : 64635022985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If RED 1s coded as 6720, then how would GREEN be coded?

(1) 16717209 (2) 1677209
(3) 9207716 (4) 1677199
Options:

64535090215, 1
64535030220, 2
64535030221, 3
EABE35030222. 4

Question Number : 21 Question Id : 64635022985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 16717209 (2) 1677209
(3) 9207716 4) 1677199
Options:

64535090219, 1
E4E35030220. 2
B4E35030221. 3
BAEZ5030222. 4



Question Number : 22 Question Id : 64635022986 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If 0.75 2 = 0.02 y, then the value of [T_x] is

Y+ X
73 75
1 = oy e
@ 75 @ T
73 730
3 —= |t
(3) = (4) 75
Options:

B4E35030223. 1
BAE35030224. 2
64535030225, 3
E4E3509022E. 4

Question Number : 22 Question Id : 64635022986 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64535090223, 1
64535030224, 2
64835090225 2
4535090226, 4

Question Number : 23 Question Id : 64635022987 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If the average of five numbers 18 —20 and the sum of three of the numbers 15 32, then what 1s
the average of the other two numbers?

(1) 66 (2) 33
(3 34 4 -132
Options:

64535030227, 1
EAE35030228. 2
EAE35030229. 3



EAE35030230. 4

Question Number : 23 Question Id : 64635022987 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfe gie STl 1 SAida —20 2, A7 FH 8§ fF et & 9 32 #, 91 999 &1 Gl # AEd 3491
27

1 66 (2) -33
@ -84 @ -132
Options:

64535030227, 1
E4535090228. 2
E4EZ5030229. 3
EAE35030230. 4

Question Number : 24 Question Id : 64635022988 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A man travelled from the village to the railway station at the rate of 20 Kmph and walked
back at the rate of 5 kmph. If the whole journey took 5 hours, find the distance of the raillway
station from the village.

(1) 10 km (2) 15km
@) 20km (4) 40 km
Options:

645350390231, 1
64535090232, 2
E4E35030233. 3
EAE35030234. 4

Question Number : 24 Question Id : 64635022988 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F1E =Afqa ma & Iag €29H F A 20 kmph 81 F Far 2 au a9y 5 kmph # 20 & e 21 3@
=Y AT H 3 5 uE W 2, o M ¥ td 22w i gft wma fifsig |

(1) 10km (2 15km
(3) 20 km (4) 40 km

Options:

64535030231 1

E4E25030232. 2

E4E25030233. 3

64535030234 4

Question Number : 25 Question Id : 64635022989 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A trader mixes three varieties of refined oil costing Rs. 100, Rs. 40 and Rs. 60 per litre in the
ratio 2 : 4 : 3 in terms of litre, and sells the mixture at Rs. 66 per litre. What percentage of
profit does he make?

(1) 12% (2) 10%
(3) 9% 4) 8%
Options:

645350390235, 1
EAE35030236. 2
EAE35030237. 3
E4E35030238. 4

Question Number : 25 Question Id : 64635022989 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

s M 100 &., 40 & a9 60 . ufd e i ara gt 7 9wR & {iwEee ad & e & 1g |
2:4:3 Fud # e 2 A 3u feor #9166 &, ufa ofier i g & S=ar 21 30 feaq wfowa &1 amw

g1 27
(1) 12% (2 10%
(3) 9% @) 8%

Options:

64535090235, 1
64535030236, 2
64535030237, 2
E4E35030228. 4

Question Number : 26 Question Id : 64635022990 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

No Musicians are Japenese
All Barbers are Musicians

No Barbers are Japenese
Identify the Middle Term in the above syllogism

(1) Subject in the first premise and predicate in the second premise
(2) Predicate in the first premise and subject in the second premise
(3) Predicate in the both premises

(4) Subject in both the premises

Options:



E4E35090239. 1
64535030240, 2
64535030241, 3
64535030242, 4

Question Number : 26 Question Id : 64635022990 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FIS TR ST 2 2 |
aaft A1 wfiaen £
F13 A8 S A 2 |
IE{F rared | "eAus 6l ugee i
(1) 92 19r a&g J Fdl A1 gt e a | a9
(2)  UEe A9R aEd i e ot gul enaw A o i
(3)  2Fi wnar aEdl d faga
(4)  @FT A19E FEEl H Fi

Options:

64535090239, 1
E4E350390240. 2
4535090241, 2
64535020242, 4

Question Number : 27 Question Id : 64635022991 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Inductive argument proceeds from

(1) Unuversal to Particul ar
(2) Particular to Universal
(3) Universal to Universal

(4) Particular to Particul ar

Options:

64535090243, 1
E4E350390244. 2
64535030245, 5
64535030246, 4



Question Number : 27 Question Id : 64635022991 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HANTHATHS o (8 78 399 21 27

(1)  =ewtfEs o fafsmee
(2)  fafve o geEwims

@)  adifEe & o
(4)  fafse o fafsw

Options:
E4E35090243 1

E4E35030244. 2
E4E35030245. 3
BAE3503024E. 4

Question Number : 28 Question Id : 64635022992 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Among the five friends, Vineet 1s taller than Momka, but not as tall as Ram. Jacob 1s taller
than Dalip but shorter than Monika. Who is the tallest in their group?

(1) Ram

(2) Monika

(3) Vineet

(4) Jacob
Options:

E4E35030247. 1
64535030248, 2
64535030249, 3
64535030250, 4

Question Number : 28 Question Id : 64635022992 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) ™

@ =
(3) ferdia
CV

Options:

4835090247, 1
4535090248, 2
64535020249, 5
64535030250, 4

Question Number : 29 Question Id : 64635022993 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Consider the example given below :
Devadatta i1s growing fat.
He does not eat food during the day.
Therefore, He must be eating food during the night, other things being equal.

Identify the logic invelved in the example provided above by choosing the correct answer
from options given below :

(1) Arthapatti (2) Anupalabdi
(3) Anumana (4) Sabda
Options:

E4E35090251. 1
E4E35030252. 2
64535030253, 3
64535030254, 4

Question Number : 29 Question Id : 64635022993 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



=1 fou sgrem w foEm i

gae |l 21 @ 2|
oe fea o g 421 | 2
T,
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(1) A4 (2) wuafey
(3)  FHA (4) =g

Options:
4235090251, 1

EAE35030252. 2
64535030253, 3
64535030254, 4

Question Number : 30 Question Id : 64635022994 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the argument provided below :

“Sound 1s permanent because it 1s a product hike the jar”.

Identify the fallacy involved in the above argument on the basis of Indian logic from the
options given below.

(1) Fallacy of contradictory reason (2) Fallacy of wrong assertion
(3) Fallacy of irrelevant reason (4) Fallacy of trivial reason
Options:

645350390255, 1
EAE35030256. 2
EAE35030257. 3
E4E35030258. 4

Question Number : 30 Question Id : 64635022994 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fi=1 fau @ o femm Hifsg
e curlt & HdifE 98 s i @E A I E,
A= w71y, forepcedi @ WA deh < SArar 9t 3udad a H [iza amean i gg=e fifs;

(1)  faame aF arer garys (2) HaE ANFE ¥ SR gayE
(3)  AWAg T B gATHN (4) q=8 9% B U
Options:

64535090255, 1
64535030256, 2
64535090257, 3
EAEZ5030255. 4

Sub-Section Number: 4
Sub-Section 1d: 6463501136
Question Shuffling Allowed : Yes

Question Id : 64635022995 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehiension

Consider the following table that shows the production of fertilizers by a company (n 10000
tonnes) during the year 2011 to 2018.

Answer the questions based on the data contained i1n the table :

Year : 2011 | 2012 | 20183 | 2014 | 2015 | 2016 | 2017 | 2018
Production of Fertilizers : 35 50 70 55 = 60 85 90
Sub questions

Question Number : 31 Question Id : 64635022996 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In how many of the given yvears was the production of fertilizers more than the average
production of the given years?

€ 2 2) 8
@3 4 @ 5
Options:

B4E35030259. 1
B4E535030260. 2



EAE35030261. 3
BAE35030262. 4

Question Number : 32 Question Id : 64635022997 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the percentage decline in the production of fertilizers from 2013 to 20147

(1)  20.4% (2) 21.4%
3)  22.6% @) 24.2%
Options:

E4E35030263. 1
64535030264, 2
64535030265, 3
E4535090Z6E. 4

Question Number : 33 Question Id : 64635022998 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the approximate percentage increase in production of fertilizers in 2018 compared
to that in 20117

(1) 157% 2) 165%
(3) 177% 4) 182%
Options:

B4E35030267. 1
64535030268, 2
64535090269, 3
EAEZ5030270. 4

Question Number : 34 Question Id : 64635022999 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which year, the percentage increase 1n production as compared to the previous vear was
maximum?

(1) 2012 (2) 2013
(3) 2015 (4) 2018
Options:

64535030271, 1
E4E35090272. 2
EAEZ5030273. 3
EAE35030274. 4

Question Number : 35 Question Id : 64635023000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

The average production of 2012 and 2013 was exactly equal to the average production of
which of the following pairs of vears?

(1) 2011 and 2012
(2) 2011 and 2017
(3) 2012 and 2014
(4) 2015 and 2016

Options:

64835090275, 1
E4E35090276. 2
4535020277, 5
4535030278, 4

Question Id : 64635022995 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label | Comprehension

f=fcfiga arfaen w femm Sifse, St ad 2011 - 2018 @ sfte &9 % 39 I9EA (10000 27) I g9riarn
2

ay 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018

33TH FI IEA a5 50 70 55 75 60 85 90

Sub questions

Question Number : 31 Question Id : 64635022996 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

feu mu fera &Nt § 3R 1 3cq1eq fu o ant & e Icaed o Afeew ar?

(2 & a8
(3) 4 @ 5

Options:

64535090259, 1
64535030260, 2
64535030261, =
4835030262, 4

Question Number : 32 Question Id : 64635022997 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

2013 % 2014 9% 34T F 3c9eA H Tora gfavia Trmae i ?

(1)  20.4 vfas@ (2) 21.4 gfdwE
(3) 22.6 Ffawrd (4) 24.2 yfawE

Options:

64535090263, 1
4535090264, 2
4535030265, 5
4535030266, 4

Question Number : 33 Question Id : 64635022998 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2 2018 <1 g1 | A 2011 § 36Tl + IeUreT | gig = wfdera s e on?

(1) 157% (2) 165%
(3) 177% (4) 182%

Options:

64535090267, 1
4835030268, 2
4535090269, 2
64535020270, 4

Question Number : 34 Question Id : 64635022999 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fore = 4 3carga | gfg @ ufdwd fea ara $i gamn d safteras or?

(1) 2012 (2) 2013
(3) 2015 4 2018

Options:

64535090271, 1
64535030272, 2
48350390272 2
4535090274, 4

Question Number : 35 Question Id : 64635023000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFeferfiga awl % gra | O fror Sdd 3caed | 2012 R 2013 % iHd IemeA & faoge gam ar?

() 2011 @R 2012
(2 2011 R 2017
(3) 2012 %N 2014
4 2015 #N 2016

Options:

64535090275, 1
64535030276, 2
64535030277, 2
E4E35030278. 4

Sub-Section Number: 5
Sub-Section 1d: 6463501137
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635023001 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the following :
Set I Set 11
(a) First Generation (1) Transistor
(b) Second Generation (11) VLSI microprocessor
(c) Third Generation (1) Vacuum tube
() Fourth Generation (1v) Integrated circuit

Select the correct option from the following :

(a) (b) (© (d)

(1 @) ) @ (11)
@ () (1) av) (11)
3 () (1) (1) ()
@ @ (i11) @) (i1)
Options:
64635090279, 1

EAE35030280. 2
EAE35030281. 3



EAE35030282. 4

Question Number : 36 Question Id : 64635023001 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

feffiga =+ gafaa fifsw
e ol e - 10
(@ s @ glisteet
b  fedi did (i) al Ut U 15 WIS

(€ g e (iii) IHH 2
(d)  =neft figt (iv) zémfez ufdz
Ferferfiga 9 @ @& 391 1 =@A Fieo

(a) (b) ©) (d)

@ ) av) @) (1)
@ @ @ (1v) (1)
@ @) @ 1) av)
@ o (111) (1v) (1)

Options:
E4E2E090279.

EAEZ5030280,
EAE35030281.
BAE35030282,

[ N

Question Number : 37 Question Id : 64635023002 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
One TeraByte (TB) of memory is equal to

(1) 1024 KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x 1024 KB
4) 1024 x 1024 x 1024 Bytes

Options:



EAE35090283. 1
64535030284, 2
64535030285, 3
64535030286, 4

Question Number : 37 Question Id : 64635023002 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

U aEEe (TB) 99 feas aqH 27

(1) 1024KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x1024 KB
(4 1024 x 1024 %1024 Bytes

Options:
E4E25090283. 1

EAE35030284. 2
E4E35030285. 3
BAE35030286. 4

Question Number : 38 Question Id : 64635023003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A/An 18 a computer program that spreads by inserting copies of itgelf into other
executable code or documents.

(1) Operating System (2) Computer Virus
(3) Firewall (4 Anti-virus
Options:

EAE35030287. 1
B4E35030288. 2
B4E535030285. 3
64535030230, 4

Question Number : 38 Question Id : 64635023003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535090287, 1
48350390288, 2
4535090289 2
645350320290, 4

Question Number : 39 Question Id : 64635023004 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Audio and Video compression, the term RGE means

(1) Red, Grey, Blue (2) Red, Green, Blue
(3) Red, Green, Black (4) Red, Grey, Black
Options:

64535030231, 1
64535090232, 2
E4E350302393. 3
EAE350302394. 4

Question Number : 39 Question Id : 64635023004 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Atz «dh difzdr Fvw & ROB 1 wAfiuy 2

(1) &, 4, s (2) &, ¥H,sq
(3) g, i1, =iF 4) g, 7, =i

Options:

4535090291, 1
64535030292, 2
64535030293, =
64535030294, 4

Question Number : 40 Question Id : 64635023005 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s not a’an web browser?

(1) Internet Explorer (2) Mozilla Firefox
(3) (Google chrome (4) Yahoo
Options:

E4E35030255. 1
EAE35030236. 2
BAE35030297. 3



EAE3503023958. 4

Question Number : 40 Question Id : 64635023005 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F=fafiaa | 9+ a9 J1Een A8 27
(1) 326z = (2) HIRTAT $PR FiaE
(3) T B @ IR

Options:

64535090295, 1
64535030296, 2
64535030297, 2
E4E350390298. 4

Question Number : 41 Question Id : 64635023006 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The target set by Indian government for generating power from wind energy by the vear
2022 is

(1) 60 GW (2) HB0GW
(3) 40 GW 4) 15GW
Options:

6453509025945, 1
64535030200, 2
64535030301, 3
E4E35030230Z. 4

Question Number : 41 Question Id : 64635023006 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A 2022 a4 95 Fo01 U foeTel 3001 F1 % ol Ui 50RE A 9491 aey Haifia frar 27

(1) 60 GW (2) 50GW
(3) 40 GW @) 15GW

Options:

4535090299, 1
64535030200, 2
64535030201, =
64535030302, 4

Question Number : 42 Question Id : 64635023007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which pollutant i1s the major source of marine pollution?

(1) Agricultural run-off
(2) Oil spill

(3) Industrial waste water
(4) Sewage

Options:

64535090303 1
645350320204, 2
64535030205, =
64535030206, 4

Question Number : 42 Question Id : 64635023007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TN TG TG SET ] HelH ST Hi 27
1)  FN AvEE

2 9 fmE

(3)  lenfies s S

4)  dHes

Options:

64535090203, 1
48350390204, 2
4535090205 2
64535030206, 4

Question Number : 43 Question Id : 64635023008 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Permafrost 1s defiming characteristic of which biome?

(1)  Taiga (2) Tundra
(3) Grassland (4) Desert
Options:

E4E35030207. 1
64535030208, 2
645350303049, 3
64535030310, 4

Question Number : 43 Question Id : 64635023008 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

eI fopm arg <6 fasian <1 saman 27
(1) &m @) T
(3) = % HgH (4) TSR

Options:

4535090207, 1
645350302308, 2
64535030209, =
64535030210 4

Question Number : 44 Question Id : 64635023009 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The mangroves exist in

(1) Fresh water system (2) Temperate areas
(3) Semi-arid areas (4) Saline waters
Options:

E4E35030211. 1
EAE35030212. 2
E4E35030213. 3
64535030214, 4

Question Number : 44 Question Id : 64635023009 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fed aEdTd FaEl Hadt 27
(1)  are S gomedt (2) HamET
@) ALY AT (4) @ S

Options:

64535090211, 1
64535030212, 2
64535030213 2
4835030214 4

Question Number : 45 Question Id : 64635023010 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Chemical oxygen demand in eutrophic water is

(1) Low
(2) High
(3) Medium

(4) Extremely low

Options:

645350903215, 1
48350390216, 2
4535030217, 5
64535030218, 4

Question Number : 45 Question Id : 64635023010 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Perfeer Sict | Ffbepar waradts <l | St 2-

1 =

(2) I

(3) HETH

(4)  felopet HH

Options:

645350903215, 1
48350390216, 2
4535030217, 5
64535030218, 4

Question Number : 46 Question Id : 64635023011 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which era given below, ligher education in India got a set back?

(1) British Era (2) Buddhist Era
(3) Mughal Era (4) Post-Independence Era
Options:

645350390319, 1
E4E350302320. 2
E4E350302321. 3
BAE35030322. 4



Question Number : 46 Question Id : 64635023011 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A= feu U e i | W | R 0 geR e
(1)  fafen == (2) @ig
3) g FA (4) EETEA HA

Options:
45250902191

E4E350302320. 2
E4E350302321. 3
BAE35030322. 4

Question Number : 47 Question Id : 64635023012 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which year the modern Indian University got established?

(1) 1957 (2) 1857
(3) 1947 4) 1964
Options:

645350390322, 1
E4E35030324. 2
E4E350302325. 3
BAE35030326. 4

Question Number : 47 Question Id : 64635023012 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g widl feafearra € e fee o | 237

(1) 1957 (2y 1857
(3) 1947 4) 1964
Options:

64535090323, 1
64535030324, 2
64535030325, 3
EAE35030326. 4

Question Number : 48 Question Id : 64635023013 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The report of which of the following Education Commissions carries the sub-title Education
for National Development’?

(1) Radhakrishnan Commission
(2) Mudaliar Commission
(3) Calcutta University Education Commission
(4) Kothart Commission
Options:
6462350903271
64635090325, 2

64535030329, 3
64535030330, 4

Question Number : 48 Question Id : 64635023013 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafafaa @ & T foem s 6t § swis e famm & fou far g mran?
(1)  TIEFH SATE
2)  wefeEm s
(3)  waIwl favaiageE g Ame
4)  FIBR A

Options:
E4EI5030327.

E4E3503032E.
EAE35030329.
E4E35030230.

[ N

Question Number : 49 Question Id : 64635023014 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The expansion of SANKALP 1s,

(1) Sanskrit Awareness and Knowledge Acquisition of Language Programme
(2) Skills Acquisition and Karatae Awareness for Livelithood Promotion

(3) Skills Acquisition and Knowledge Awareness for Livelihood Promotion

(4) Sanskrit Awareness and Knowledge Acquisition for Livelihood Promotion

Options:

64535090231, 1
64535030332, 2
6483503902322 2
4535090224 4



Question Number : 49 Question Id : 64635023014 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SANKALP I fa%ar 2

(1) O FE T ATt ufaasiv A% das s
(@) T, TSI W FE AEHE B dEacdigs THEH
(3)  forcn, wEdNNE e qiel AeaTE 1 dEadigs SHeH
(4)  TEFG AT T A v B dgdedige JHeH

Options:

4635090231, 1
64535030332, 2
645350303233 2
64535030234, 4

Question Number : 50 Question Id : 64635023015 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements best explains the concept of sustainable development?

(1) Use of natural resources minimally
(2) Use of natural resources for our benefit
(3) Use of natural resources judiciously o that they are available for future generations
(4) Preserve our natural resources for our future generation
Options:

E4E35030335. 1
EAE350302336. 2
E4E350302337. 3
645350302328, 4

Question Number : 50 Question Id : 64635023015 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frefefiga | o ®9-o1 o gaq o = 9y w1 3 sarefEa w27
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(4) A wHfaw qEeAT B wis sl fifedl % fav adEe s

Options:

64535090335, 1
48350903236, 2
4535090227, 2
645350302328, 4

PART II Anthropology

Section Id : 646350476

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 96

Number of Questionsto be attempted: 96

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 6463501138
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635023016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What is the major difference between schedule and questionnaire?
1.  Schedule is a list of questions but questionnaire is not a list of questions

2. Schedule is filled-in by the researcher but questionnaire is filled-in by the
informant

3.  Questionnaire 1s filled-in by the researcher but schedule is filled-in by the
informant

4.  Both schedule and questionnaire are same and there is no difference
between them

Options:

64835090239, 1
E4E35090240. 2
645350320241, 5
64535030242, 4

Question Number : 51 Question Id : 64635023016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535090239, 1
64535030240, 2
64535030241, =
4835030242 4

]

Question Number : 52 Question Id : 64635023017 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Chi-square test was originally developed by
1.  W.S. Gossett
2. A.R.Fisher
3. B. Pascal

i K. Pearson

Options:

64535090243, 1
64535030244, 2
645350303245 2
483503903246, 4

Question Number : 52 Question Id : 64635023017 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HI-TR UUEIU] B Yol Had: [us g1 [awid &1 1 U4i?

1. B &Y U9.7NC
2. U 3R R
3. o uRod

4. & digg=

Options:

64535090243, 1
64535030244, 2
64535030245 =
483503903246, 4

Question Number : 53 Question Id : 64635023018 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are key indicators of archaeological sites?

(a) Surface finds of artifacts

(b) Accidental discoveries of sites while ploughing and road making
(¢) Soul discolourations and vegetational cover

(d) Conspicuous earthworks, stone ruins or other surface features

Choose the correct answer using the options given below :
1. (a), (b}, (c) and (d) are correct
2. (a), (b) and (c) are correct

(a), (¢) and (d) are correct

S

(a), (b) and (d) are correct

Options:

4535090247, 1
645350302348, 2
64535030249, =
64535030350, 4

Question Number : 53 Question Id : 64635023018 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535090247, 1
645350302348, 2
64535030249, =
64535030350, 4

Question Number : 54 Question Id : 64635023019 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following living apes is genetically closest to humans?

1.  Gorilla
2. Chimpanzee
3.  Gibbon

4. Orangutan

Options:

64535090351, 1
64835090352 2
45350903252 2
64535030354, 4

Question Number : 54 Question Id : 64635023019 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. T
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Options:

64535090351, 1
64835090352 2
45350903252 2
64535030354, 4

Question Number : 55 Question Id : 64635023020 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the term used for the opening in the base of the skull through which the spinal
cord passes?

1.  Foramen magnum
2. Mental foramen
3. Optical foramen

4. Orbital foramen

Options:
645350903551

E4E35030356. 2
E4E350302357. 3
64535030358, 4

Question Number : 55 Question Id : 64635023020 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. yduH
2. HFAR® W
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Options:
45250903551



E4E35030356. 2
64535030357, 3
64535030358, 4

Question Number : 56 Question Id : 64635023021 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following 1s called the “‘Nutcracker Man’?

1.  Homo habilis
2. Australopithecus afarensis
3.  Orrorin tugenensis

4.  Paranthropus boisei
Options:
64635090359, 1
64635090360, 2
64635090361, 3
64635030362, 4

Question Number : 56 Question Id : 64635023021 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fRoferfEa 8 2 i Fehet 89 &gl 91 22
1. g efefag
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4.  WGTFTET

Options:

64535090359, 1
64535030360, 2
E4E3503903261. 2
64535030262, 4

Question Number : 57 Question Id : 64635023022 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A model, involving a recent origin of most human characteristics in Africa, but also
inter-breeding with archaic populations inside or outside Africa is called

1.  Wolpoff replacement model
2.  Leakyreplacement model
3.  Chopra replacement model

4. Jurmain replacement model

Options:

64835090363, 1
4535090264, 2
64535030365, o
4535030366, 4

Question Number : 57 Question Id : 64635023022 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Us Hige forad sipieT § gaiile |ma fASwdiel ae g § gan 9d fRerg afiita @ vy
fOraH aplesT & 3ieT 3UdT I18T B QI SIUE & Ty Hor 1 gorl, eardl &

1. IIECiE UioRyTe= "igd
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Options:

64535090363, 1
64535030364, 2
E4E35030365. 2
4535030266, 4

Question Number : 58 Question Id : 64635023023 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following African monkey has a sacculated stomach?

1.  Colobus monkey

2. Langur
3. Leafmonkey

P

Macaque



Options:

64535090367, 1
48350303268, 2
4535090269 2
64535030370, 4

Question Number : 58 Question Id : 64635023023 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535090367, 1
64535030368, 2
48350303269, 2
4535030270, 4

Question Number : 59 Question Id : 64635023024 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who said ‘nothing in biology makes sense except in the light of evolution’?
1. Wallace
2. Dobzhansky
3.  Darwin

4. Bodmer

Options:

645350903711
64535030372, 2
64535030373, 5
64535030374, 4

Question Number : 59 Question Id : 64635023024 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. a9
2. SigoEt
3. sIfds
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Options:

64535090371, 1
64535030372, 2
483503903732 2
4535090274 4

Question Number : 60 Question Id : 64635023025 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following has mentioned that Australoids are widely distributed in
India in his ethmic classification of the Indian population?

1. S.S. Sarkar
2. A.C. Haddon
3. B.S Guha

4. H.H. Risley

Options:

64535090375, 1
4835030376, 2
64535030277, 5
64535030378, 4

Question Number : 60 Question Id : 64635023025 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535090375, 1
4835030376, 2
E4E35090277. 2
64535020378, 4

Question Number : 61 Question Id : 64635023026 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which molecule serves to destabilize the DNA helix in order to open it up, creating a
replication fork?

1. Helicase
2. lagase
3.  Polymerase

4.  Gyrase
Options:
E4E35090379. 1
45350302580, 2
64535030381, 5
64535030382, 4

Question Number : 61 Question Id : 64635023026 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. gftesg
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Options:

64635090379, 1
E4E3503903280. 2
4535090281, 2
64535030382, 4

Question Number : 62 Question Id : 64635023027 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The sequence of one strand of DNA 1s 5 AGC TAG 3. The sequence of
complementary strand would be

I, STCG ATC ¥
2 3 ICha GOT 3
3 Y TCC ATE 3

4. S'GAT CGA ¥

Options:

4835090383,
4535090284,
45350902385,
4535090386,

o LIRS

Question Number : 62 Question Id : 64635023027 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S U9. T F s dgHTHH 5 AGC TAG 3 81 XS dg B HH 8l
. SI'TOG ATC Y
2. FOTA GCTY
3. STCCATCY

4, 5 GAT CGA 3

Options:

64535090383,
4835090284,
4535090285,
45350902386,

o LIPS

Question Number : 63 Question Id : 64635023028 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is true for “Tented Arch’?
1.  Itis a dermatoglyphic arch found only in the sole.
2. Itisa form of arch found on the finger of some persons.
3. Itis an arch of hypothenar region of hand.

4. Itis an arch of thenar region of hand.

Options:



EAE35030387. 1
645350302388, 2
645350302385, 3
64535030330, 4

Question Number : 63 Question Id : 64635023028 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘RifagH I (28 o) F HeH A Fuftied # 9 oF-91 98 82
. g sHcrasihe g € of Rid daar & v srar g1
2. TR S BT IS TU ¢ o oS Afedl &1 Il U= ura e

3. Ug B & geUiiiER &5 | U™ 9 arell 31 ¢
4. g N & AR &7 § uran SR a1 8 2

Options:

645350902387, 1
64535030388, 2
64535030389, =
48350390290 4

Question Number : 64 Question Id : 64635023029 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Chargaff’s rules state that in typical DNA

1. A=G
2. A=C
3. A+T=G+C
4, A+G=T+C
Options:
64535090291,
4835090392,

1
2
645350390332, 3
E4E3503023394. 4

Question Number : 64 Question Id : 64635023029 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. A=G
2. A=C
3 AFTEGEE

4. #nFe—=T%E

Options:

4535090291, 1
64535030392, 2
64535030293, =
64535030294, 4

Question Number : 65 Question Id : 64635023030 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following 1s an example of autosomal recessive disorder?

1. Huntington chorea
2. Achondroplasia
3.  Cystic fibrosis
4. Myotonic dystrophy

Options:

64635090395

64635090396,

1
£
64535030337, 3
64535030338, 4

Question Number : 65 Question Id : 64635023030 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64535030355, 1



E4E350303396. 2
64535030357, 3
645350302338, 4

Question Number : 66 Question Id : 64635023031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following disorders are caused due to recessive autosomal mutation?
1.  Turner’s syndrome and Sickle cell anaemia
2.  Edward’s syndrome and Patau syndrome
3.  Cystic fibrosis and Phenylketonuria

4. Alzheimer’s disease and Hunfington chorea

Options:

64535090299, 1
4835090400, 2
4535090401, 2
64535020402, 4

Question Number : 66 Question Id : 64635023031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535090299, 1
64535020400, 2
64535030401, =
64535030402, 4

Question Number : 67 Question Id : 64635023032 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Barr bodies are seen in

p—

germ cell of normal human female
2. germ cell of normal human male
3.  somatic cells of normal human female

4, somatic cells of normal human male

Options:

64535090403, 1
E4E350390404, 2
4535090405, 2
64535020406, 4

Question Number : 67 Question Id : 64635023032 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535090403, 1
64535030404, 2
64535030405, =
64535030406, 4

Question Number : 68 Question Id : 64635023033 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

When the human genome draft sequence was released, which of the following
observations was least expected?

1. A larger amount of repetitive DNA
2. The size of individual chromosomes
3. A small number of protein coding genes

4. The size of total genome

Options:



E4E35030407. 1
64535030408, 2
64535030405, 3
64535030410, 4

Question Number : 68 Question Id : 64635023033 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535030407, 1
64535030408, 2
64535030409, 3
E4E35030410. 4

Question Number : 69 Question Id : 64635023034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A mutation changing an amino acid codon into a termination codon is termed as :
1. Nonsense
2. Missense
3.  Conservative

4.  Nonconservative

Options:

64535090411, 1
64535030412, 2
64535030413 =
4835090414 4

Question Number : 69 Question Id : 64635023034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2. TH9Ew

3. Sudicd

4. FHepordied

Options:

64535090411, 1
48350390412 2
4535090412 =2
64535020414, 4

Question Number : 70 Question Id : 64635023035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Most hormones of the endocrine system are regulated by which of the following?
1. Negative feedback mechamsm
2. Positive feedback mechamsm
3.  Hormone-receptor complex

4.  Hormone-gene complex

Options:

64535090415, 1
64535030416, 2
64535030417, =
648350390418 4

Question Number : 70 Question Id : 64635023035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:



E45350390415. 1
64535030416, 2
64535030417, 3
645350304158, 4

Question Number : 71 Question Id : 64635023036 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

At what stage of human growth, the growth spurt 1s seen as a “bump’ in the height
curve and a ‘spike” in the height velocity curve?

1.  Infancy
2. Juvenile
3, Adolescent

4. Adult

Options:

4535090419, 1
64535030420 2
64535030421, =
64535030422 4

Question Number : 71 Question Id : 64635023036 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535090419, 1
64535020420 2
64535030421, =
64535030422, 4

Question Number : 72 Question Id : 64635023037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Foli¢c acid deficiency leads to :
1. Pernicious anaemma
2 Sickle-cell anaesmia

3.  Iron-deficiency anaemia

-

Megaloblastic anaemia

Options:
64535090423 1

E4E35030424. 2
E4E35030425. 3
BAE35030426. 4

Question Number : 72 Question Id : 64635023037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535090423 1

E4E35030424. 2
E4E35030425. 3
BAE35030426. 4

Question Number : 73 Question Id : 64635023038 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Marasmus 1s due to
1. Vitamin-A deficiency
2. Vitamin-C deficiency
3.  Protein-energy malnutrition

4.  Vitamin-D deficiency



Options:

64535090427, 1
4835030428, 2
4535090429 =2
645350320420, 4

Question Number : 73 Question Id : 64635023038 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35090427. 1
64535020428, 2
64535020429, 5
64535030430, 4

Question Number : 74 Question Id : 64635023039 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following does NOT include in “somatotype™?
1.  Relative degree of adiposity of the body
2. Relative mass of the body
3. Relative musculo-skeletal development of the body

4. Relative slenderness of the body

Options:

64535090431, 1
4535090422, 2
64535030422 5
64535030424, 4

Question Number : 74 Question Id : 64635023039 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Frafafed § 9 oF-91 SiiceRy | it 781 87
1. IRR @ R[ESaemdl &1 arae JE
2. IRR SI9mE 99
3. IR 190 e
4. TRR o1 EYE ST

Options:

4535090421, 1
64535030422, 2
64535030433 =
64535030424 4

Question Number : 75 Question Id : 64635023040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following refers to nuptiality?
1. Death
2.  Birth
3. Marnage
4.  Fertility

Options:

64535090435, 1
4835030436, 2
4535090427 2
64535020428, 4

Question Number : 75 Question Id : 64635023040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e A 9 319-91 a9’ R 3 3R Jod ST 87
1. H9
2. o
3. faam®
4. voEEl
Options:

64535090435, 1



E4E35030436. 2
B4E35030437. 3
64535030435, 4

Question Number : 76 Question Id : 64635023041 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Laurel and Willow leaf points are hallmarks of

i, Solutrean
2. Aurignacian
3.  Pengordian

4.  Acheulan

Options:

4535090439, 1
64535020440 2
64535030441, =
64535030442 4

Question Number : 76 Question Id : 64635023041 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4535090439, 1
64535020440 2
64535030441, =
64535030442 4

Question Number : 77 Question Id : 64635023042 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following is a theoretfical line to demonstrate a technological difference
between the early prehistoric tool technologies of the East and the West of the old
world?

I Wallace line
2. Mac Mohan line
3. Nazcaline

4. Movious line

Options:

4535090443, 1
64535020444 2
64535030445 =
645350304465, 4

Question Number : 77 Question Id : 64635023042 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4835090443, 1
4535090444 2
64535020445 5
64535030446, 4

Question Number : 78 Question Id : 64635023043 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following deposits is suitable for Potassium- Argon dating?

i Volcame

2. Glacial
3. Pluvial
4. Selsmic

Options:

64535090447, 1
64535030445, 2
64835090449 =
4535090450, 4

Question Number : 78 Question Id : 64635023043 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4. Ul

Options:

64535090447, 1
E4E350390448. 2
645235030449, 5
64535030450 4

Question Number : 79 Question Id : 64635023044 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Middle Range Theory in archaeology i1s denved from which of the following
methodological streams?

(a) Ethnoarchaeology
(b) Experimental archasology
(¢} Settlement archacology

(d) Underwater archacology

Choose the correct answer using the options given below :

R

(a) and (b) are correct
2 (b) and (¢) are correct
3. (c)and (d) are correct
4

(a) and (d) are correct

Options:

64535090451, 1
64535030452, 2
64535030453 =
64535030454 4

Question Number : 79 Question Id : 64635023044 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



RGN P A W auRon 9 8 § fow vlifiee arsh | ogaw 82
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(b) VENTHS awxIe
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. (a) 3R (b) FEIE
2. (b) 3R (c) T
3. (0)3MR(d) FE
4. (a) 3R (d) wEE
Options:

64535090451, 1
64535030452, 2
645350390452, 3
E4E35030454. 4

Question Number : 80 Question Id : 64635023045 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Kitchen midden culture is so named because
1.  Itisassociated with huge deposits of food waste in the form of shell bins
2. It includes typical transverse-edge arrowheads and broad-end axes
3. It was found in Baltic and North Sea coasts in Europe
4. Absence of decorative art work
Options:
64635090455,
64635090456,

64535030457,
E4E35030455.

o P

Question Number : 80 Question Id : 64635023045 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535090455, 1
64535030456, 2
E4E350390457. 2
64535030455, 4

Question Number : 81 Question Id : 64635023046 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who authored the book 4 Study of Archaeology, considered the foremost critique of
archaeologists’ preoccupation with chronology?

1. Walter W. Taylor
2. Richard A. Gould

3. JohmE. Yellen

4. James Deetz

Options:

64535090459, 1
64535020460, 2
64535030461, =
64535030462, 4

Question Number : 81 Question Id : 64635023046 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535090459, 1
E4E350904E0. 2
4535090461, 2
64535020462, 4

Question Number : 82 Question Id : 64635023047 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following prehistoric sites is situated in the state of West Bengal?

1. Mask
2. Piklihal
3.  Birbhanpur

4. Nevasa

Options:

64535090463, 1
64535030464, 2
64535030465 =
4835090466, 4

Question Number : 82 Question Id : 64635023047 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E350904E3. 1
64535030464, 2
64535030465 =
64535030466, 4

Question Number : 83 Question Id : 64635023048 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Which of the following evidences 1s associated particularly with Burzahom site?
1.  Direct evidence of the cereals grown
2. Spinnming and weaving
3.  Pit dwelling

4. Wheel made pottery

Options:

64535090467, 1
64535030468, 2
64535030469 =
4835090470, 4

Question Number : 83 Question Id : 64635023048 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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. JC T R B T e
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Options:

64535090467, 1
E4E35030468. 2
4535090469 2
64535020470, 4

Question Number : 84 Question Id : 64635023049 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who coined the term ‘Proto-Neolithic’ to refer to the culture of the regions where
microliths occurred with potsherds?

1% R. B. Foote
2.  S. Piggott
3 H. D. Sankaha

4. M. Wheeler



Options:

64535090471, 1
4835030472 2
4535090472 2
64535020474, 4

Question Number : 84 Question Id : 64635023049 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535090471, 1
64535020472 2
64535030473 =
64535030474, 4

Question Number : 85 Question Id : 64635023050 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The effectiveness in protecting archaeological sites depends on

1.  Amount of available funds
2. Number of archacologists working on the sites
3.  Importance of the sites

4. Puble attitudes towards the past

Options:

64535090475, 1
64535030476, 2
64535030477, =
4835030478, 4

Question Number : 85 Question Id : 64635023050 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535090475, 1
4835030476, 2
4535090477, 2
64535020475, 4

Question Number : 86 Question Id : 64635023051 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Uniformity is taken to be the hallmark of Indus Valley Civilization. Which of the
following features are correct?

(a) Fabric, shape and decoration of pottery

(b) Terracotta cakes, weights, measures and figurines

(¢) Fortified township with underground drains and individual houses
(dy Seals with regional motifs and scripts

Choose the correct answer using the options given below :

1. (a), (b)and(c) are correct
(b), (¢) and (d) are correct
(@), (¢) and (d) are correct

L

(a), (b), (¢) and (d) are correct

Options:

64535090479, 1
4835090420, 2
4535090481, 2
64535020482, 4

Question Number : 86 Question Id : 64635023051 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4. (a), (b), (o) R (d) TEE
Options:

645350390473, 1
E4E35030450. 2
E4E35030481. 3
EAE35030452. 4

Question Number : 87 Question Id : 64635023052 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The second urbamzation in the Indian subcontinent 1s connected to
1. Beginmng of Iron Age

2. Coming of Aryans
3. Development of highly specialized society

4.  Urban character of Harappan cutlure

Options:

64535090453, 1
64535030454, 2
648350390485 =2
4535090456, 4

Question Number : 87 Question Id : 64635023052 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64535090453 1

E4E35030454. 2
E4E35030485. 3
EAE35030456. 4

Question Number : 88 Question Id : 64635023053 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
One of the most important characteristics of Anthropology is
1. Study of human society
2. Focus on past cultures
3.  Insistence on participant fieldwork

4. Description of various ways of life

Options:

64535090487, 1
64535030488, 2
64535030439 2
E4E350390430. 4

Question Number : 88 Question Id : 64635023053 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:



EAE35030487. 1
64535030488, 2
64535030455, 3
64535030430, 4

Question Number : 89 Question Id : 64635023054 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the descent groups mentioned below in increasing order of complexity

I—
a

phratry-lineage—moiety—clan
2.  lineage—clan—phratry—moiety
3. clan-lineage—moiety—phratry

4. clan—phratry-lineage-moiety
Options:
64635090491 1
64635090482, 2
64635090493, 3
64635090494 4

Question Number : 89 Question Id : 64635023054 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3.  Pa-ag-HEc-bad
4. PA-thcd-gw-HEe

Options:

&4635090491. 1
64535030492, 2
64535030493 =
64535030494, 4

Question Number : 90 Question Id : 64635023055 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A married woman died. Her kin group replaced her with her sister as spouse for the
widower. This custom is known as

1. levirate
.8 sororate

3. bride service

4.  bnde wealth

Options:
E4E35030455,

1
E4E3503043E, 2
E4E35030437. 3
E4E350304355. 4

Question Number : 90 Question Id : 64635023055 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535090495, 1
64535030496, 2
E4E350390497. 2
4535030495, 4

Question Number : 91 Question Id : 64635023056 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is the best tool to study kinship system?
1. Controlled observation
2. Structural interview
3.  Genealogical methods

4. Questionnaire



Options:

64535090499, 1
4835030500, 2
4535090501, 2
64535030502, 4

Question Number : 91 Question Id : 64635023056 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535090499, 1
64535030500, 2
64535030501, 2
E4E35030502. 4

Question Number : 92 Question Id : 64635023057 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who said, “Primitive law 1s the rule which curbs human inclinations thereby equating
law with social obligation and social control.”?

1.  Bronislaw Malinowski
2. Paul Bohannan

3.  Leopold Pospisil

4. McLenon

Options:

4535090503, 1
64535030504, 2
64535030505, =
64535030506, 4

Question Number : 92 Question Id : 64635023057 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535090503, 1
E4E35030504. 2
&4535030505. 5
64535030506, 4

Question Number : 93 Question Id : 64635023058 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements best describes power?

1. The ability based on the legitimacy of a set of norms which are fixed and
sacred.

2. The ability of a person or social unit to influence the conduet and decision-
making of another.

3. The ability to invoke supernatural conflict.

4, The ability of a person or group to be healthy.

Options:

64535090507, 1
64535030508, 2
64835030509 2
4535090510, 4

Question Number : 93 Question Id : 64635023058 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535090507, 1
64535030508, 2
64535030509, =
64535030510 4

Question Number : 94 Question Id : 64635023059 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

An interpersonal supemnatural force which can manifest in persons or things and which
1s transferable 1s known as

1. Amma
2. Mana
3.  Fetish
4. Ghost

Options:

64535090511, 1
4535030512, 2
64535030512
64535030514, 4

Question Number : 94 Question Id : 64635023059 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. wUEE
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3. Bfew
4. Hd

Options:

64535090511, 1
64535030512, 2
64535030513 2
E4E35030514. 4

Question Number : 95 Question Id : 64635023060 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The practice whereby a man retires to rest after his wife has given birth, as if he himself
has just gone through the labour of childbirth, is called
1. Couvade
2. Imtiation rite

3. Birth taboo

4, Totemism

Options:

64535090515, 1
64835030516, 2
4535090517, 2
64535030518, 4

Question Number : 95 Question Id : 64635023060 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535090515, 1
64535030516, 2
64535030517, 2
E4E35030518. 4

Question Number : 96 Question Id : 64635023061 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Evolutionism was divided into general evolution and specific evolution by which of the
following anthropologists?

I Sahlins and Harris
2. Service and Steward
3. Sahlins and Service

4. Steward and White

Options:

64535090519, 1
64535030520, 2
64535030521, 5
64535030522, 4

Question Number : 96 Question Id : 64635023061 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535090519, 1
E4E35030520. 2
4535030521, 5
64535030522, 4

Question Number : 97 Question Id : 64635023062 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What did M. Mead examine in her study among three New Guinea societies?
1.  The impact of personality on culture
2. The impact of culture on personality
3.  The environment and its impact on personality

4. The conditioning of the social personalities of the two sexes

Options:

64535090523, 1
64535030524, 2
64535030525 2
E4E350390526. 4

Question Number : 97 Question Id : 64635023062 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535090523, 1
4835030524, 2
4535090525 2
64535030526, 4

Question Number : 98 Question Id : 64635023063 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following explamed symbols as ‘means of social classification, which
distinguish between various categories of objects, persons or actions and keep them
separate’?

1. Clifford Geertz
2 Victor Turner
3. Raymond Firth

4. Mary Douglas
Options:
64635090527, 1
64635090528, 2
64635030529, 3
64635090530, 4

Question Number : 98 Question Id : 64635023063 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
feram udieonl @5t U s i 8 b e armifeie arffeur &1 ey § o awgalt ot fafis
ST, Ffeedl SraT SrfsaTeil & di 3faR Bl ¢ 3R I e WA g’

1. fowrs et
2. fawReR
3. Hswd
4. BTN

Options:

64535090527, 1
64535030528, 2
64535030529, =
E4E35030520. 4

Question Number : 99 Question Id : 64635023064 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who 1s the author of the path-breaking work in 1970, Women in the Field :
Anthropological Experiences?

L Laura Bohannan
2 Rosaline Wax
3.  Louwse Lamphere

4.  Peggy Golde

Options:

64535090531, 1
64535030532, 2
64535030533 =
64835030524, 4

Question Number : 99 Question Id : 64635023064 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1970 ® ouvexe &1 ‘9EF 37 § Bits : WIUaived TeHiRiuey’ & aws o 714 ¢
1. dRIdERES

2. Jelelle ded
3. g9 Ul
4. TR

Options:

64535090531, 1
64535030532, 2
64535030533 =
E4E35030524. 4

Question Number : 100 Question Id : 64635023065 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following concepts has influenced L. P. Vidyarthi to formulate his
concept of sacred complex?

1 Great and little tradition
2. Dominant caste
3. Sanskritization

4. Modermization

Options:

64835090535, 1
4535090536, 2
64535030537, 5
64535030528, 4

Question Number : 100 Question Id : 64635023065 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o, ). Rrendf &t uftea doa @t AR Fafi@ o 9 g sayrom @ ywifda 27
1. HEH 3R &Y Wo
2. USRI S
3. SWpdie
4. anyRetE

Options:

64535090535, 1
E4E35030536. 2
4535030527, 5
64535030528, 4

Question Number : 101 Question Id : 64635023066 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which kind of changes are associated with Sansknitization and Westernization?
1.  Social structure
2. Culture
3.  Economic

4. Political



Options:

64535090539, 1
64835030540, 2
4535090541, =2
64535030542, 4

Question Number : 101 Question Id : 64635023066 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
{9 VPR & UNad-1 &1 98 TIHIw0r R Spd e 9 g7
1. rEToe 9=

2. U@
3. omfde
4. IoHiaD

Options:

64535090539, 1
64535030540, 2
648350390541, =2
64535030542, 4

Question Number : 102 Question Id : 64635023067 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following has worked on ‘tribe-caste contimuum’?
1. T.C.Das
2. R. Redfield
3. S. Sinha

4. V. Elwin

Options:

64535090543 1
64535020544, 2
64535030545, o
64535030546, 4

Question Number : 102 Question Id : 64635023067 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



=94 e ‘sReIfa-afa gidds’ W sH a1 82
1. dEc™
2. IR ISHIE

3. u9.
4.t ufeas

Options:

4535090543, 1
64535030544, 2
64535030545 =
64535030546, 4

Question Number : 103 Question 1d : 64635023068 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who described tribal commumties in India as ‘Backward Hindus™?

1. G.S. Ghurye

(g

Surajit C. Sinha
3. Niurmal Kumar Bose

4. Lalita Prasad Vidyarthi
Options:
64635090547, 1
64635090548, 2
64635090549, 3
64635030550, 4

Question Number : 103 Question Id : 64635023068 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. otuagd
2. geiq 9. [
3. i sureN

4. aferan v [l

Options:
64535090547, 1



E4E35030548. 2
64535030545, 3
64535030550, 4

Question Number : 104 Question 1d : 64635023069 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Schedule VI of the Constitution of India is applicable to
1.  whole of India
2. only scheduled areas
3.  only North-Eastern India
4.  only coastal areas

Options:

64535090551, 1
64535030552 2
648350390552 2
E4E35090554 4

Question Number : 104 Question Id : 64635023069 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

YIed & 3em &1 rgget VI e w ang gt 82
1. Hguf yRa
2. Sad T &
3. &qd @R URa
4.  Fad ol &

Options:

64535090551, 1
64535030552, 2
64535030553 =2
E4E35030554. 4

Question Number : 105 Question Id : 64635023070 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following is a cognitive element of Western culture?
1.  Caste hierarchy
2. Traditionalism
3. Individualism

4. Segmentation

Options:
645350905551

E4E35030556. 2
E4E35030557. 3
64535030558, 4

Question Number : 105 Question Id : 64635023070 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frafefEd 7 8 -9 vfied Swfd &1 99 ere o 82

1. ifd goE aF
2. TWWER
3. e
4. @I

Options:
645350905551

E4E35030556. 2
E4E35030557. 3
64535030558, 4

Question Number : 106 Question Id : 64635023071 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The best skeletal indicators of determining sex in forensic investigation is the

1. scapula
2. ulna
3. pelvis

4. clavicle



Options:

64535090559, 1
4835030560, 2
4535090561, 2
64535030562, 4

Question Number : 106 Question Id : 64635023071 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
i s reara # i o o1 wdfen o waw &

|58 HH B d
2. Gﬁﬂm
3. yoft

4. gge

Options:
4235090559, 1

E4E35030560. 2
B4535030561. 3
BAE3503056%. 4

Question Number : 107 Question 1d : 64635023072 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Pre-industrial cities exasted as
(a) Centres of pilgrimage
(b) Royal capitals
(¢) Industrial centres
(d) Military encampments
Choose the correct answer from the codes options below

1.  (b)and (d) are correct
2. (a)and (b) are correct
3. (b}, (c) and (d) are correct
4. (a), (b) and (d) are correct

Options:
64535090563, 1



EAE35030564. 2
64535030565, 3
B4535030566. 4

Question Number : 107 Question 1d : 64635023072 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ud-eitefie T firg T u A faeme 47

(a) TREAENS F5

(b) el IS

(c) SfenfiTe g

(d) IR

= f&u 77U fasedl H 9 et I &1 997 S -
L () 3R (D) FAE
2. (a) 3R (b) WEE

3. (b),(c) MR (d)THE
4. (a), (b)) MR (d)TE 2

Options:

64535090563, 1
E4E35030564. 2
4535090565 2
64535030566, 4

Question Number : 108 Question Id : 64635023073 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s cultural approach in Medical Anthropology?
1.  Critical Medical Anthropology
2. Human biology and variation
3. Evolution, health and medicine

4. Bioarchaeology and the history of health

Options:
64535090567, 1



EAE35030568. 2
64535030565, 3
B4535030570. 4

Question Number : 108 Question 1d : 64635023073 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FafafEa ® 3 S=- it 9 i o1 Sighie R 82
1. oifd sma<ae e Awa fage
2. W4, SafemE ok fAds
3. Ao wrg R wfy
4. O W@ 3R TR B 3fqed

Options:

64835090567, 1
4535090568, 2
64535030569, o
64535030570, 4

Question Number : 109 Question Id : 64635023074 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following statements about forensic analysis of DNA 1s NOT correct?
1. A DNA profile using short tandem repeats 1s unique to an individual.

2. Forensic analysis makes use of SNPs in coding sequences to distinguish
between individuals.

3. PCRis used for DNA profiling.

4.  DNA fingerprinting can be used for paternity testing.

Options:

4535090571, 1
64535030572 2
64535030573 =
64535030574, 4

Question Number : 109 Question 1d : 64635023074 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



el ® H1F-91 F7 8. 9. U & BRI frdsn & a8 g 22
1. ¢ ¢ew fdic % Suan aren 21 o, U Uithisd U sAfad o foru Ay 21

2. BRY® fAwaver safeadl & 919 3R H37 & fow @ @ § u9. o, 0. $1
IUANT ST Bl

3. 2 UA. U vrsiem & fom . . o @1 va g g
4. 1. sifferl & A g wHiemr § sxaTd 5 o 9@ 2

Options:

64535090571, 1
64535030572, 2
64535030573 =
4835030574 4

Question Number : 110 Question Id : 64635023075 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Milton Singer applies the concept of Great and Little tradifion in his study of

1. Bombay

2.  Bangalore

3.  Calcutta

4. Madras
Options:

64535030575, 1
64535090576, 2
EAEZ5030577. 3
E4E35030578. 4

Question Number : 110 Question Id : 64635023075 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



foree RITR 3 o= Pufafed # @ 59 sierae § 7o iR @Y TR 31 S™yRoT &1 |
foa 87

1. 94
2. §Er
3. Haddl
4. W™

Options:

64835090575, 1
E4E35090576. 2
64535030577, 5
64535030578, 4

Question Number : 111 Question Id : 64635023076 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following proposed “Arboreal hypothesis® of primate adaptation?
1.  G. Elliott and M. Cartmll
2. F. Good-Jones and G. Elliot

3. L. Gerber and D. Creas

4, J. Neel and R. C. Punnel

Options:

64535090579, 1
64535030580, 2
64535030581, 2
E4E35030582. 4

Question Number : 111 Question Id : 64635023076 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T 9 [ UTsHT g & ‘el NIabed=T Tanad $1?
1. o ufere 3R UH. Sicd
2. U, IS-Sg 3R of. uferae
3. Ud TR R S o
4. O i 3R 3R 3

Options:
45350905749, 1

E4E35030580. 2
E4E35030581. 3
BAE35030582. 4

Question Number : 112 Question Id : 64635023077 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is in correct cephalocaudal order?
1. Lumbar-Thoracic—Sacral—Cervical
2. Thoracic—Cervical-Lumbar—Sacral
3.  Cervical-Lumbar-Thoracic—Sacral

4. Cervical-Thoracic—Lumbar—Sacral

Options:

4535090583, 1
64535030584, 2
64535030585, =
64535030586, 4

Question Number : 112 Question 1d : 64635023077 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

i # 9 @ -1 951 AeTdio s ®H 67
1.  dR-IRRe-SeTa-WRased
2. URRT-gERTa-da-a9o3d
3. AR T-de-URRye-—detd
4.  HaReT-9RRE-de-detd

Options:



E4E35090583. 1
64535030584, 2
64535030585, 3
64535030586, 4

Question Number : 113 Question Id : 64635023078 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following features best describe B. S. Guha’s classification of the people
of Incha?

(a) He traced six major racial strains and nine sub-types among the Indian
population.

(b) Identification of Negrito elements is one of the highlights of his classification.

(¢) He mentioned that the Australoids are widely distributed throughout India.

(d) He has shown the people of India as Mongoloid and Brachycephalic.

Choose the correct answer from the options given below :

[—

(a), (b) and (c) are correct
2 (a), (b) and (d) are correct
3. (b), (¢)and (d) are correct
4

(a), (¢) and (d) are correct
Options:
£4635030587. 1
64635030588, 2
64635030589, 3
£46835030590. 4

Question Number : 113 Question Id : 64635023078 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(¢) T forare i sieaias HRa R A A gu e
(d) T HRA S G BT AFTGTS 3R SHIkbiow & TU | fgam 2|
=t feg T fywenl 9 9 98t SR g
L. (a), (b) 3R (c) W &
2. (), (0)M()TAT
3. (b),(c) 3R (d) W& 8
4. (a), (c) 3R (d) T8
Options:

B4535030587. 1
64535030588, 2
64535030589, 3
64535030530, 4

Question Number : 114 Question Id : 64635023079 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are true of the high altitude adaptation process?
(a) Breath rapidly

(b)  Heart beats faster

(¢)  Suffer from hypoxia

(d)y Vitamin C level rises

Choose the correct answer from the options given below :
1. (a), (b)and (d) are correct
2. {a), (b)and (c) are correct

(b), (¢) and (d) are correct

e el

(¢) and (d) are correct

Options:

645350905491 1
64535030592, 2
64535030593 =
64535030594, 4

Question Number : 114 Question 1d : 64635023079 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



0 7 3 31-9 3= URicy SMea Vil & Gy H 93 8 ?
(@) TG 4

(b) T DI USH A G

(c) grEvifewan § Tiga g

() = CHTRIgAae

) g o Riwe § A w8 TR IR
. (a), (b) 3R (d) FE &
2. (a). (b) AR (c) WA E
3. (b).(c)dR()TAE
4. (c) 3R (d) T E
Options:

645350305391, 1
645350390532, 2
E4E350305393. 3
E4E350305394. 4

Question Number : 115 Question Id : 64635023080 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements about Experimental Archaeology are true?

(a)

(b)
()
(d)

Materials used in the experiment must be those available locally to the prehistoric
society one 1s studying.

Method must conform with the society’s technological abilities.
The experiment must lead to suggested conclusion.

The result of the experiment must be unique and cannot be replicable.

Choose the correct answer from the options given below :

Options:

64535090595,
4825090596,
E4E35090597.
4535090598,

1. (a), (b), (c) and (d) are correct
(a), (b) and (c) are correct
(b), (¢) and (d) are correct
(a), (b) and (d) are correct

dad b ke

o IR

Question Number : 115 Question Id : 64635023080 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TS GRIGENE & IR 7 sivey=i # 3§ Si=-31 981 82
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2 fRw e et § 3 98 IR

1. (a), (b), (o) 3R (@) WA

2. (a), () 3R () WE T

3. (b), () MR@THL

4. (a),(b) R (D) FHE

Options:

64535090595, 1
64535030596, 2
E4E350390597. 2
4535090598, 4

Question Number : 116 Question Id : 64635023081 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following groups of crops were cultivated by the megalithic builders of
South India?

1. Rice, ragi, black gram, green gram
2. Rice, wheat, black gram, green gram
3.  Ragi, wheat, black gram, green gram

4. Race, ragi, wheat, black gram

Options:
6435030599, 1

E4E35030600. 2
E4E35030601. 3
EAE35030802. 4



Question Number : 116 Question Id : 64635023081 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o & @ $19-8 B9d YHE S0 YR & Herm Fatarei grR1 3T e
1. <9, I, BT, T
2. 9194, T, STa 94, &0 T
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4. =rad, W, g, ST =

Options:

64535030599, 1
4535090800, 2
64535030601, 5
4535030602, 4

Question Number : 117 Question Id : 64635023082 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Anthropological studies of law have explored the social orgamizational correlates of
different forms of dispute settlement, such as

(a) Avoidance and Divination

(b)  Ordeals, Mediation and Negotiation
(¢) Arbitration and Adjudication

(d) Imposition and Compensation

Choose the correct answer from the options given below :

[S

(a), (c) and (d) are correct
2 (a), (b) and (d) are correct
3. (b),(c)and(d) are correct
4. (a), (b) and (c) are correct

Options:

4535090603, 1
64535030604, 2
64535030605, =
4835030606, 4



Question Number : 117 Question Id : 64635023082 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

STH & AFARTRAd ALgAl = [darg FueH & (59-1im S & 9mrfee STe-Tes aeaaul
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. (@), (3R ITAE
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3. (b), (c) 3R (d) T &
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Options:

64535090603, 1
64535030604, 2
4835030805 2
E4E35090806. 4

Question Number : 118 Question Id : 64635023083 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following Anthropologists conducted ethnicity studies?

(a) M. G. Smith

(b) A. Cohen
(¢) A Giddens
(d) F.Barth

Choose the correct answer from the options given below

L.

e SR

Options:

EAE35030E07,
E4E35030608.
E4535030805,
B4535030610.

Question Number

(a), (b) and (d) are correct
(¢), (d) and (b) are correct
(a), (b) and (c¢) are correct
(b), (¢) and (d) are correct

e LI M

1 118 Question Id : 64635023083 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(d) ue s
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1. (a), (b) 3R (d) &1 &
2. (), () 3R (b) W E
3. (), () 3R (o) FE T
4. (b, () 3R (d) FE €

Options:

64535030607, 1
64535030608, 2
E4E35030808. 3
EAE35030610. 4

Question Number : 119 Question Id : 64635023084 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to the Constitution of India, which of the following are socially and
educationally Backward Classes?

(a) Scheduled Tribes
(b)  Other Backward Classes

(c) Depressed Classes
(d) Scheduled Castes

Choose the correct answer from the options given below :

(="t

(a), (¢) and (d) are correct
2 (b), (c) and (d) are correct
3. (a), (b) and (d) are correct
4

(a), (b) and (c) are correct

Options:

46350906811, 1
64535030612, 2
64535030613 =
64535030614, 4

Question Number : 119 Question 1d : 64635023084 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



YA & TR F 3R A A ¥ F1H-3 qmiee AR Jefte 03 e ol &2
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. (a), (c) M (d) TEE

2. (b),(c)dR(d)TRE

3. (a), (b) AR (d) TEE

4. (a), (b) AR (c) TAE
Options:

64535030611, 1
64535030612, 2
E4E35030E13. 3
EAE35030614. 4

Question Number : 120 Question Id : 64635023085 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The applied research in Medical Anthropology includes
(a) Therapeutic care in clinical settings

(b} Issues of health and healing system

(¢)  Solving specific human problems

(dy Public health programme in community sefting
Choose the correct answer from the options given below :

1. (b, (c), (d) are correct
(a), (b), (d) are correct

(b), (¢) are correct

oW

(a), (b) are correct

Options:

64535090615, 1
64535030616, 2
4835030817, 2
4535090818, 4

Question Number : 120 Question Id : 64635023085 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Rifedita w8 Sy Sy BT & it &
(a) TP E AT A TTERTHES o@-@

(b) @A 3R fafea v & g

() TaRE Aa Free &1 gagE

() IHeRe I | oF g sriwy

3 o e et # 9 98 SRR

1. (b),(c) MR (d) FEN &
2. (a),(b)3MR(d) &
3. (b) ¥R (c) WEIE
4. (a) 3R (b) TETE

Options:

64535090615, 1
E4E35090816. 2
64535030617, o
64535030615, 4

Question Number : 121 Question Id : 64635023086 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the name of the books given in List-I with the name of the authors given in
List—II ;

List-I List-II
(a) Systema Naturae (1)  Charles Lyell
(b)y On the Origin of Species (1) WEL Clark
(¢) Principles of Geology (1)  Carl Linnaeus
(dy The Fossil Evidences for Human (iv)  Charles Darwin
Evolution

Choose the correct option from those given below :

1. (a)-(ui); (b)-Gv); (e)-1); (d)—~1)
2. (a)y-(ui); (b)-(v); (c)-(1); (d)—11)
3. (a)-@); (b)), (¢)-1); (d)-(v)
4. (a)y-);, (D)-av); (e)-(m); (d)1)

Options:
E4E3E090819.

EAEZ5030620,
EAE35030621.
BAEZS030822,

[ N

Question Number : 121 Question 1d : 64635023086 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



-1 7 <t 713 gao! ot gEt o geEi-11 § fou T dee! 3t T=t | gt Sifon -

-1 eI
(a) feeqr3ge @ = o
(b) 77 7 SRfaT o [&dior (i) S 3. Ud w5
(c) Hiaueg i gelo (iii) T fomsd
(d) 13 Fiae ofds-ad Biv 59a7 FHIegaT (iv) =T SRiaA

fau T fasreai A @ 98 I &1 997 BT
L. (a)-(ur); (b)-v); (¢)-); (A1)
2. (a)-); (b)-Qv); (e)-(1); (d)-11)
3. (@) (b)HGii); (e)(id); (d-v)
4. () (0)—iv); (e)-(iD); (1)

Options:

4535090619, 1
64535030620, 2
64535030621, =
64535030622, 4

Question Number : 122 Question 1d : 64635023087 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match the fossils in List-1 with the countries where they were first discovered in
List—II :

List-I List—II
(a) Australopithecus bahrelghazali (1)  South Africa
(b) Ardipithecus ramidus (1)  Indonesia
(¢) Homo floresiensis (1) Tchad
(d) Australopithecus robustus (iv)  Ethiopia

Choose the correct option from those given below :
L. (a)-(); (b)-v); (c)—(); (1)
2. (a)-(v); (b)-(); (o)-); (d))
3. (a)-@); (0)-ii); (e)—1v); (D)
4. (a)-(); (B-Q); (©)-av); (d)-11)

Options:

64535090623, 1
E4E35030824. 2
4535090825 2
4535030626, 4

Question Number : 122 Question Id : 64635023087 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



a1 H fu T Sitar=Al ot gei-11 | féu e 3 4= 9 gAfdd ifer fo=H d ugdl aR uig
.

Tt I

(a) SMEANUYSHY SELaTTaa! (i) <iero apieT

(b) SrEfurey Jusd (i)  gSHRm

(¢) B FRRE=RY (i) <=

(d) Sfixaiidsy Jawd (iv) Siyiftar
feu U Rewi A 9 I IR &1 39U BISU

L (a)-(m); (b)-(v); (¢)-(); (A1)
2. (a)-v); (b)), (e)-1); (d)-u1)
3. (a)-Q); (Huw); (e)-v); ()
4. (a-@); (0)-1); (©)-v); ()

Options:
E4E2E090623. 1

E4E35030624. 2
E4E35030625. 3
BAE35030626. 4

Question Number : 123 Question 1d : 64635023088 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Maftch the type of chromosomal aberrations given in List-I with the explanation given
in List-II :

List-I List—II

(a) Duplication (1) The amount of chromosomal
material remains unchanged
when the arrangement is altered

(b) Translocation (11)  Involves the loss of a piece of
genetic information

(¢) Inversion (111) An extra copy of a piece of
chromosomal material is present

(d) Deletion (1v) Genetic matenal 1s rearranged
between non-homologous
chromosomes

Choose the correct option from those given below :
(a)-(@); (0)1); (e)(i); (d)—v)
(a)—(i1); (b)—(iv); ()—(1); (d)—(i1)
3. (a-); (B)-); ()-m); (d)-(v)
(a)-(u); (b)-(v); (e)-(1); (A1)

—_—

4

o

Options:
4235090627, 1

EAE3503062E. 2
EAE35030629. 3
B4535030630. 4

Question Number : 123 Question 1d : 64635023088 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 A fu U wmiEeim g9 oy @ g1 § <) 7 emen | gRfid s
a1 a1

(a) e () o9 BN B 9ea Al ¢ af HEeE
I ot Ay uiatdd et gt

(b) TR (ii) SOH ARG g1 &1 TS T @i
ST ©

(c) T (i)  PEGE SS9 Tl @1 e sfaiea
Tifa Hiopg Tt €

(d) g (iv) IRHErE HHEeE $ dg #
3TIET Jre &1 Ao g &

feu U I el A I 98 I &1 997 Sifon

1 (a)-(); (b)—ii); (e)—(1); (d)—(iv)
2. (&) (b)~v); (e)-1); (d)-(u)
3. (a)y-); (b)~); (e)—(m); (d)-av)
4. (a)-(u); (b)-(v); (c)-Q); (d)-(1)

Options:

435090627, 1
64535030628, 2
64535030629, =
64535030630, 4

Question Number : 124 Question 1d : 64635023089 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match the terms 1in List—I with the names of the Scientists in List—II :

List-I List—II
(a) Genome (1)  Willham Bateson
(b) Genomics (1i1) H. W. G. von Waldeyer-Martz
(¢) Chromosome (m1) H. Winkler
(d) Genetics (iv) T. H. Rodenck

Choose the correct option from those given below :
1. (a)-(u); (b)-v); (e)-(u); (d)—1)
2. (a)-Q), (b)—w); (e)-v); (d)-(u1)
3. (a-@); (B)-(uw); (-v); (d)—1)
4. (a)-(v); (b)—a); (¢)-1); (i)

Options:

64535090631, 1
64535030632, 2
64535030633 2
E4E350308324. 4

Question Number : 124 Question Id : 64635023089 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 A feu e dFiiHet & 9t &t 39 gR1 fRu U vl (GEli-11) | gafed sifon
a1 a1

(a) Si=H (i) faferm scg=
(b) i (i)  Ud S=g o §F giaedR-are
(¢) wMGH (i) Y dow
(d) smgaRl iv) &= sh@
feu T fAm el 8 O 9g IR &1 997 S ;

. (a)-(id); (b)~v); (e)t); (d)—~1)
2. (@-1); (b)-Gi); (e)—iv); (d)iii)
3. (a)(); (b)—ii); (e)-(wv); (d)—1)
4. (@)-{iv); (b)-(i); (c)-(); (d)-iid)

Options:

4535090631, 1
64535030632, 2
64535030633, 2
64535030634, 4

Question Number : 125 Question 1d : 64635023090 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following ethnoarchaeologists in List—I with the societies they worked given
in List-II :

List-I List-II
(a) Richard Lee (1)  Nunamut Eskimo of Alaska
(b) Lewis Binford (1) Kungsan of Kalahari
(¢) James O’Connell (111)  Stone tool makers of Highland Maya
(d) Bmnan Havyden (iv) Hadza hunters of East Africa

Choose the correct option from those given below :
1. (a-Qun); (b)-Gv); (¢)-Q); (1)
2. (a)-(); (b)) (0)—v); (d)-(ui)
3. (a)-(Q); (b)-(m); (¢)~1); (d)—(v)
4. (@-av); (b)=(1); (e)-(u1); (d)—(i1)
Options:
64635030635, 1
64635090636, 2

EAE3503063Y. 3
E4535030638. 4

Question Number : 125 Question Id : 64635023090 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



g—lﬁ?ﬂﬁﬁﬂﬂﬁﬁ-waﬁﬁﬁﬁm@m%@%ﬁmﬁ%@—n e
Mg

-1 a1

(a) f=Sat (i) HETEHT & TATgsd That
(b) T HS (i)  PABRI & FHTEE

©) I NrTEd (iii)  TEdS HET P TR

() sEFgsT (iv) Tl 3npie & gigal iR

U U eyl & 9 g 3T &1 99 I :

L. (a)-i1); (b-(v), (c)-1); (D))

2. (a)-1); (b)—1); (e)iv); (d)(iii)

3. (a)-(i); (b)ii); (¢)—(ii); (d)-(iv)

4. (a)-(v); (b)), (e)-{i); (d)-11)

Options:

64535090635, 1
64535030636, 2
64535030637, 2
4835030838, 4

Question Number : 126 Question Id : 64635023091 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match an item in List—I with item 1n List-II ;

(a)
(b)
(c)
(d)

List-I List-II
(Name the Sites) (Discovered/Studied by)
Soan (i) B.B.Lal
Tinnevalley (1) M. Wheeler
Brahmagiri (1) De Terra and Paterson
Birbhanpur (1v)  Zeuner and Allchin

Choose the correct option from those given below :

1.

2.

R

4.

Options:

EAE35030633.
EA535030640,
B4535030641.
E453503064Z,

Question Number

(a)(it); (b)-(1v); (e)(it); (d)—1)
(a)—(iv); (b)—(ii); (e)-(1); (d)-(iii)
(a)—(ib); (D)—D); (0)(itd); (d)—(v)
(a)-(1);, (b)(iv); (e)—(it); (d)-(iii)

[ N

1 126 Question Id : 64635023091 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



T ® fou U ugl @ geE-11 | fu e Ael @ gafa s
-1 -1

(e & M) (3N / STF-h)
(a) WA i  H ST
(b) fed = (i1) TH. gleR
(¢) sRImR (i) T CU SR U
(d) SRYFR (iv) SR SR sifars
feu U e 7§ g SR &1 99 S

L. (a)-(u); (b)-av); (¢)-(); (D)D)
2. (a-Qv); (b)-(); (c)-Q); ()11
3. (a)-@); (B)H1); (0)i); (d)-Gv)
4. (a)-@); (b)-av); (c)-(i1); (d)i1)

Options:

64535090639, 1
64535030640, 2
4835030841, 2
4535090542, 4

Question Number : 127 Question Id : 64635023092 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the items in List—I with the items in List-1I :

(a)
(b)
(©)
(d)

List-I List-II
Margaret Mead (1)  Marquesa
Ruth Benedict (1)  Samoa
Cora Du Bais (1) Lum
Ralph Linton (iv)  Alor

Choose the correct option from those given below :

1

2.

3

4.

Options:

EAE35030643.
BAE35030644,
B4535030645,
64535030645,

Question Number

(a)-(1); (B)—(11); (e)—(it); (d)-(1v)
(a)-(v); (b)—(n); (c)-(1i); (d)—1)
(a)—(i1); (b)id); (e)—1v); (d)—1)
()-(1i1); ()-v); ()-1); (D11

[ N

1 127 Question Id : 64635023092 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



-1 § fqu mu mei &1 g=-11 | fRu e el & gafed sifn :
-1 -1

(a) WARTHS (i) A
(b) TYFfeSaT (ii) THIST
(c) RISy (i) TR
(d) Yo foieT (iv)  TEr
Gt e ¥ 9 gl TR ST Ig= Do -

L. (@-@); (B)-); (¢)-); (d)-av)
2. (a)-Qv); (b)-(ui); (¢)-(); (1)
3. (a)-@); (b)-); (©)-Av); (-
4. (a)-(u); (b)-Qv); (¢)-Q); (d—11)

Options:

64535090643, 1
64535030644, 2
4535090845 =2
4535030646, 4

Question Number : 128 Question Id : 64635023093 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the items in List—I with the items 1n List—II :

List-I List-—II
(a) Classical Evolutionism (1)  Claude Levi-Strauss
(b) Historical Particularism (11)  Marvin Harnis
(¢) Cultural Materialism (1) Franz Boas
(d) Structuralism (iv)  Adolf Bastian

Choose the correct option from those given below :
1. (a)-@); (B-u); (e)u); (d)-av)
2. (a)-Qv); (b)-(u); (e)-1); (D))
3. (a)-Qv); (b)}-); (e)-); (D))
4. (a)y-(i); (b)-in); (—D); (d)-(v)
Options:
64635090647, 1
64635030648, 2

64535030645, 3
64535030650, 4

Question Number : 128 Question Id : 64635023093 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ge-1 ¥ feu T Ael &1 gEi-11 @ e Al | ghfeg Sifee -

Teit-1 A1

(a) T (BTG () s ol ¥e
(b) UlEIYs ARweHRER (i)  widT R

() Uieplae Hifdedar dii) ot arema

(d) HEAERE (iv)  USIew SR

feu e A el § O 9 ST &1 99 Hie :

L. (a)-1); (b)—); (e)~(u1); (d)-v)

2. (@-v); (b)iii); ()i, (1)

3. (a)-(v); (0)(1); ()-(u); (A1)

4. (a)-(u); (b)~u); (e)—(1); (d)-(v)

Options:

4535090647, 1
64535030648, 2
64535030649, =
64535030650, 4

Question Number : 129 Question 1d : 64635023094 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the authors in List-I with the publications in List—II :

List-I List-II
(a) M. N. Srinivas (1)  Village India
(by McKim Marriott (11)  Indian Village
(¢} D.N. Majumdar (1)  India’s Village
(d) S.C.Dube (iv)  Rural Profiles

Choose the correct option from those given below :
(a)—(ui); (b)-(1); (¢)-(1v); (d)—(11)
(a)-(i1); (b)-(v); (e)-(1i1); (d)—(1)
(a)}-(1v); (b)-(@); (e)1); (d)iii)
(a)-0); (1)1); (e)u); (d)-Gv)

(]

s

e

e

Options:

4835090651,
45350906852,
4535090653,
4535090654,

o LIRS

Question Number : 129 Question Id : 64635023094 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g1 ® feu e el ot gEi-11 | 51 7T Il el | gHied St :
Telt-1 el

(a) T©H g dittas (i) facror gi2ar

(b) HeiewH dRET (i)  FeFTETT

(¢) 3l T A9AER (i) g9 e

d) Ted@ (iv)  THPET
feu e fdeweal 2 O et ST H1 997 ST ;

L. (@-Qu); (B)-Q); (¢)-(w); (d)-)
2. (a)y-(u); (b)v); (c)-(u1); (d)—1)
3. (@-v); (b)-1); (e)(1); (d){i)
4. (a)-@); (D)-); ()ii); (d)—v)

Options:

4535090651, 1
64535030652, 2
64535030653, =
64535030654, 4

Question Number : 130 Question Id : 64635023095 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the method of genetic screeming given in List—I with the items given in List—II :

List-1 List-II
(a) Maternal serum screening (1)  Phenylketomuria
(b) A newborn genetic screening  (11)  Adenosine deaminase deficiency
(¢) Adult screening (i)  Prenatal diagnostic technique
(d) Gene therapy (iv)  Cervical cancer of women

Choose the correct option from those given below -
L. (a)-(i); (b)-Q); (e)—{iv); (d)—(i1)
2. (a)-(i1); (b)-Gv); ()—1); (d)—(i1)
3. (a)-); (0)-@); ()u); (d)-Qv)
4. (a)-Qv); 0)-1); ()-w); (A1)

Options:

4535090655 1
4535030656, 2
64535030657, o
64535030658, 4

Question Number : 130 Question Id : 64635023095 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



-1 § €1 72 e whif viaftel &t gE-11 ¥ fiuu uel | gafea it

-1 I
(a) HIg YR Bl (i) B gg Al
(b) =Taold Ry SR Shif ()  uSARE femfag ot o4

(c) T BHI-T (i)  VEaUd A-e deHID

(d) it Bt (iv)  wiewel d Jafzed HR
feu o fAoeut § @ O} IR &1 99 i :

1. (a)-(i); (b)-({); (c)-(iv); (d)—i1)

2. (a)ib); (b)-v); (0)-0); (d)-(iD)
3. (@), (b)1); (e)ui); (d)-v)
4. (@-v); ©)-); (e)-); (d)iii)

Options:

4535090655 1
64535030656, 2
64535030657, =
64535030658, 4

Question Number : 131 Question 1d : 64635023096 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Arrange the stages of population genetics research using examples of ABO blood group
system :

(a) Selection of Mendelian population
(b) Testing of genetic equilibrium
(¢) Calculation of allele frequency

(d) Collection of ABO blood samples

Choose the correct answer from the codes given below :

L. (d), (@), (D), (c)
2. (a),(d), (), (b)
(d), (e), (b), (@)

3
4. (a), (c), (b), (@
Options:

45350906859, 1

4535030660, 2

64535030661, =

BAE35030662. 4

Question Number : 131 Question 1d : 64635023096 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ABO &0 94 WA & Il HT VAN HXd §U oHued] HERe FEYH & fafia
TN Bl HHIS JUTH TG ;

(a) TSfera e &1 999

(b) SR Jr=rd BT gieor

(¢) TUA (allele) IRARET S IO

(d) ABO Iod I9d &1 FUEW

R Rumued 43 T@ IR IR
L. (d), (a), (b), (c)

(@), () (c), (b)

(d), (e), (b), (a)
(a), (¢), (b), (d)

-

Options:

4535090859, 1
4535030660, 2
64535030661, =
64535030662, 4

Question Number : 132 Question 1d : 64635023097 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arrange the following pioneers in an ascending order on the basis of their
contributions :

1. Hardy-Weinberg—Watson and Crick—Kary Mullis—G. Mendel

2. Watson and Crick—Hardy-Weinberg—G. Mendel-Kary Mullis
3. Kary Mullis—Watson and Crick—Hardy-Weinberg—-G. Mendel

4. G. Mendel-Hardy-Weinberg—Watson and Crick-Kary Mullis

Options:

4535090663, 1
64535030664, 2
64535030665, o
64535030666, 4



Question Number : 132 Question Id : 64635023097 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Profefea oy vediel o1 39% Ae & YR T R HH § Gogaflg o3
T A e R e B e T
2. 9cE IR fhe-gel-die-of. AR gl
3. P gig-arese ofR fhe-erel-diaar-ofl. #=d
4. oft. AE-—grel-diHe-aes ok fe-Bd gfer

Options:

64535090663, 1
64535030664, 2
64535030665, 2
E4E35090866. 4

Question Number : 133 Question Id : 64635023098 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following sites in order of their occupation from the earliest to the latest :
(a) Remgunta
(b) Chirki-Nevasa
(¢) Chopammando
(d) Burzahom

Choose the correct answer from the codes given below

L. (a), (b), (c), (d)
2. (b)), (), (d
3. (a), (), (),
4. (b),(a), (d), ()

Options:
C4E35090667. 1

E4E35030668. 2
E4E35030865. 3
BAE35030670. 4

Question Number : 133 Question 1d : 64635023098 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Fofeed w6 $1 396 T99E & TR UE-aH 9 Fd-ad & 9l %0 § goraiud a9

(a) T
(b) FREY-Sarm
(c) =uHmERE
(d) goligH
= f&u Tu el H | 98 I g
L. (&), (b),(c), (D)
2. (b),(a), (), (@)
3. (a), (b),(d), (c)
4. (b),(a), (d), (c)

Options:
E4E35090667.

EAEZS030EEE.
EAE35030663,
BAE35030670,

[ N

Question Number : 134 Question Id : 64635023099 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which among the following are anthropological analyses of globalization?
(a) Arjun Appadurai’s Modernity at Large

(b John Barnes’s Models and Interpretations

(¢) Jonathan Friedman’s Cultural Identity and Global Process

(dy ULF Hannerz’s Cultural Complexity

Choose the correct answer from the codes given below :
1. (a), (c) and (d) are correct
(a), (b) and (¢) are correct

(b), (¢) and (d) are correct

ol

(a), (b) and (d) are correct

Options:

4535090671, 1
64535030672, 2
64535030673, 2
4835030874, 4

Question Number : 134 Question Id : 64635023099 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Foafafed 7 9 S1-8 3o & 7=a aare e 82
35} wTgYs 1 HiSHe! Ue dlol
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Options:

E453503067 1.
EAEZS030E7Z,
EAE3503067 3.
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Question Number

L

2

A

4.

(a), (c) SR (d) FEME
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: 135 Question Id : 64635023100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Arrange the following classifications of mankind in the ascending order in which they
were proposed :

L.

2.

3

4.

Options:

64535030675,
EAEZS030E7E,
EAEZS030677.
BAE3503067E.

Question Number

Hooton-Blumenbach—Garn—Demker
Blumenbach-Hooton—Garn—Deniker

Deniker—Hooton—Garn—Blumenbach

Blumenbach-Deniker—Hooton—Garn

[ N

: 135 Question Id : 64635023100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Al % Fofafaa aiffeo &1, FFE 3 varfag 5y e 399 oFuR oI 9 A
AT BN

| geh-sEReTrSfER
). ART-geIH-RR
3 PR
4 ERT-RER T

Options:

64535090675, 1
64535030676, 2
E4E35090877. 2
4535030673, 4

Question Number : 136 Question Id : 64635023101 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one is labelled as Assertion (A) and the other 1s
labelled as Reason (R) :

Assertion (A) : Tnbal society 1s considered as egalitanan, non-hierarchic and
homogenous as against caste society.

Reason (R) : We observe social inequality among tribes at present.

In the context of the above two statements, which one of the following codes is correct?
1.  (A)is true and (R) is not true
2. (A)is false and (R) is true
3. (A)is false and (R) is also false

4. (A)is true and (R) is also true

Options:

4835090679, 1
4535090820, 2
64535030681, o
64535030682, 4

Question Number : 136 Question Id : 64635023101 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
4225090679, 1

E4E35030680. 2
645350306881, 3
EAE3503068%. 4

Question Number : 137 Question 1d : 64635023102 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one 1s labelled as Assertion (A) and the other 1s
labelled as Reason (R) :

Assertion (A) : A schedule 1s a set of questions sent by mail to be filled up by the
informants themselves.

Reason (R) : A schedule can only be administered among the literates.

In the context of the above two statements, which one of the following option is
correct?

1.  (A)istrue and (R)1s not true
2. (A)is false and (R) 1s true
3. (A)is false and (R) 1s also false

4. (A)istrue and (R) 1s also true

Options:



EAE350306E3.
BAE5350306854.
E4535030885.
E453503065E.

[ N N

Question Number : 137 Question Id : 64635023102 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4535090683,
64535090654,
64535030685,
64535090686,
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Question Number : 138 Question 1d : 64635023103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one 1s labelled as Assertion (A) and the other 1s
labelled as Reason (R) :

Assertion (A) : Hand axes are primarily for digging rather than cutting and scraping.

Reason (R) : Hand axe is also known as rostrocarinate.

In the given context of the above two statements, which one of the following option is
correct?

1. (A)istrue and (R) 1s not true
2. (A)is false and (R) is true
3. (A)is false and (R) 1s also false
4. (A)isfrue and (R) 1s also true
Options:
64635090637, 1
64635090688, 2

64535030659, 3
E4EZ5030630. 4

Question Number : 138 Question Id : 64635023103 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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EAE3503068E. 2
E4E350306885. 3
B4535030830. 4

Question Number : 139 Question 1d : 64635023104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one 1s labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) :  Sickle cell trait provides resistance against malaria.

Reason(R) : HDbS high frequency in malaria endemic regions 1s an example of
balanced polymorphism.

In the context of the above two statements, which one of the following option 1s
correct?

1. Both(A)and (R) are wrong
2. (A)is correct but (R) is wrong
3. Both(A)and (R) are correct

4.  (A)is wrong but (R)1s correct

Options:

64535090691, 1
64535030632, 2
4835030832 2
64535030694, 4

Question Number : 139 Question Id : 64635023104 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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645350390691,
64535090692,
4835090693,
4535090694,
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Question Number : 140 Question Id : 64635023105 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements. one 1s labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : Francois Bordes believed that the Mousterian traditions reflect four
groups who visited the same locations but lived in complete isolation.

Reason (R} : The Neanderthals and their contemporaries developed tools for
different activities.

In the context of the above two statements, which one of the following option is
correct?

1. (A)is correct but (R) 1s wrong
2. Both (A)and (R) are correct
3. (A)is wrong, but (R) is correct

4. Both (A)and (R) are wrong

Options:



45350306395,
EAE3503063E6,
BA5350306857.
64535030638,

[ N N

Question Number : 140 Question Id : 64635023105 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535090695, 1
64535030696, 2
4835030837, 2
4535090898, 4
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Question Number : 141 Question Id : 64635023106 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one 1s labelled as Assertion (A) and the other 1s
labelled as Reason (R) :

Assertion (A) : The out of Africa model suggests that modern humans evolved in
Affica.

Reason (R) : Widely depressed populations of H. erectus exhibited regional
anatomical variation.

In the context of the above two statements, which one of the following option is
correct?

1. Both(A)and (R) are true and (R) 1s the correct explanation of (A)

2. Both (A) and (R) are true but (R} is not the correct explanation of (A)

3. (A)istrue, but (R)1s false

4. (A)is false, but (R) true
Options:
£4635090699.
64635090700,

64535030701,
64535030702,

[ N I

Question Number : 141 Question 1d : 64635023106 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4825090699, 1
4835090700, 2
64535030701, 5
4535030702, 4

Question Number : 142 Question Id : 64635023107 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one is labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) :  All Central Indian rock shelters inhabited in prehistoric times such as
those of Bhimbetka and Adamgarh present rock art.

Reason (R) : Dunng the Mesolithic period, scenes of hunting predominate amongst
a multiplicity of other themes of art.

In the context of the above two statements, which one of the following option is
correct?

1.  (A)is true and (R) is not true

2. (A)is false and (R) is true

3. (A)is false and (R) 1s also false
4. (A)is true and (R) is also true

Options:

64535090703, 1
64535030704, 2
64535030705, 2
E4E35030706. 4

Question Number : 142 Question Id : 64635023107 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E4E35030703. 1
64535030704, 2
64535030705, 3
64535030706, 4

Question Number : 143 Question 1d : 64635023108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one 1s labelled as Assertion (A) and the other 1s
labelled as Reason (R) :

Assertion (A) : M. N. Srimivasan proposed the process of Sanskritization to explain
social mobility in caste society.

Reason (R} : Sanskritization term was coined after studying Coorg tribe in South
India.

In the context of the above two statements, which one of the following option is
correct?

1. (A)is true and (R) is not true
2. (A)is false and (R) is true
3. (A)is false and (R) 1s also false
4. (A)is true and (R)1s also true
Options:
64635090707, 1
64635090708 2

645350307049, 3
64535030710, 4

Question Number : 143 Question Id : 64635023108 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535090707, 1
64535030708, 2
4835030709 2
4535090710, 4

Question Number : 144 Question Id : 64635023109 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one 1s labelled as Assertion (A) and the other 1s
labelled as Reason (R) :

Assertion (A) : Gene flow is an exchange of genetic material.
Reason (R) : Gene flow is a cause of the formation of genetic isolates.

In the context of the above two statements, which one of the following option is
correct?

1 (A)1s correct and (R) 1s also correct
2 (A)1s correct and (R) 1s wrong

3. (A)iswrong and (R) is correct

4 (A)1s wrong and (R) is also wrong

Options:
64535090711, 1
64535030712, 2

E4E825030715. 3



EAE35030714. 4

Question Number : 144 Question Id : 64635023109 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64835090711,
4535090712,
4535090713,
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Question Number : 145 Question Id : 64635023110 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one 1s labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : Medical anthropologists are being called on to consult with
international and domestic health agencies in an effort to formulate
health programmes that are culturally sensitive and applicable to local
needs and effective in obtaining community support.

Reason (R) : Anthropological perspectives are not relevant at all levels of public
health process, from inception of disease trends to the design,
implementation and evaluation of progress.

In the context of the above two statements, which one of the following option 1s
correct?

1. (A)istrue and (R)is also true
2. (A)is false and (R) is also false
3. (A)is false and (R) 1s true

4. (A)is true and (R) 1s false

Options:
64535090715 1

E4E35030716. 2
E4E35030717. 3
64535030718, 4

Question Number : 145 Question Id : 64635023110 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535090715 1

E4E3503071E. 2
EAE35030717. 3
64535030718, 4

Sub-Section Number: 2
Sub-Section 1d: 6463501139
Question Shuffling Allowed : Yes

Question Id : 64635023111 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension



Books and articles often report research in a straightforward manner : Here’s the
problem, here’s the answer—that kind of thing. But many researchers know from
experience that knowledge does not always come in a straightforward manner. Now a
professor at Rhode Island College, Terence E. Hays has reflected on the twists and
turns 1 his fieldwork among the Ndumba in the Eastern Highlands province of
Papua New Guinea. He first started studying whether different types of people (e.g.,
women and men) had different types of plant knowledge and whether they classified
plants differently. In the course of his fieldwork, in 1972, he witnessed an initiation
ceremony for 10 to 12-year-old males—a dramatic and fraumatic rite of passage
ceremony that included the physical trauma of nose-bleeding as well as the social
traumas of ‘attacks® by women and seclusion in the forest. The ceremony was full of
symbolism of why the sexes needed to avoid each other. And while he collected stories
and myths about plants for his research on ethnobiology, he kept uncovering themes

in the stories about the danger of men associated with women.

Hays® curiosity was aroused about these ceremonies and myths. How important are
myths in perpetuating cultural themes? Do other societies that have separate men’s
houses have similar myths? He realized when he refurned home from the field that
many societies have similar stories. Are these stories generally linked to initiation
rites and physical segregation of the sexes? Answering these questions required
comparison, so he embarked on collecting myths and folk-tales from colleagues who
worked in other New Guinea Highland societies. In the course of collecting these
comparative materials, he realized he didn’t have all the ethnographic information he
needed, so he went back to field to get it. As Hays remarked “as an ethnographer I
was continually faced with questions, how do you know it’s true? But even when I
could reach a (hard-won) conviction that something was true for the Ndumba, the second
question awaited : how do you know it’s generally true, which you can’t know about

comparison?”
Sub questions

Question Number : 146 Question 1d : 64635023112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Terence E. Hays conducted his fieldwork among which of the following commumties?
1. Tsembaga Maring
2. Ndumba
3.  Papua New Guinea

4, Rhode Island

Options:

4535090719, 1
4535030720, 2
64535030721, 5
64535030722, 4

Question Number : 147 Question Id : 64635023113 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Professor Hays witnessed the initiation ceremony of which of the following?

1. Boys
2. Girls
3. Men

4. Women

Options:

64535090723, 1
64535030724, 2
E4E35030725. 2
64535030726, 4

Question Number : 148 Question Id : 64635023114 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Why were the body secluded in the forest?
1.  They were afraid of people
2.  They were afraid of women
3. It was a part of initiation rite ceremony

4. Their noses were bleeding

Options:

4835090727, 1
4535090728, 2
64535030729, 5
64535030720, 4

Question Number : 149 Question Id : 64635023115 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In societies with traumatic inifiation rites, usually :

1.  Men have separate houses

2. Men and women live together

3. Boys and girls are allowed to be together

4. Boys and girls are sent to their relatives’ house

Options:

64535090731, 1
64535030732, 2
64535030733, 5
64535030734, 4

Question Number : 150 Question Id : 64635023116 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Why did Professor Hays go back to the field?
1.  He liked the people of Papua New Guinea
2. He did not have all the ethnographic information
3.  The people invited him to visit again
4. He was transferred to that area

Options:

64535090735, 1
64535030736, 2
64535030737, 2
48350307328 4

Question Id : 64635023111 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Label © Comprehension
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Options:
4535090719, 1

E4E35030720. 2
E4E35030721. 3
BAE35030722. 4

Question Number : 147 Question Id : 64635023113 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. v o
2. gt
3. 0§

Options:

64835090723, 1
4535090724, 2
64535030725, 5
4535030726, 4

Question Number : 148 Question Id : 64635023114 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gIcfe &1 a9 H Usbiddie H 472
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Options:



EAE35030727. 1
BAE35030728. 2
64535030725, 3
64535030730, 4

Question Number : 149 Question Id : 64635023115 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535090731, 1
64535030732 2
64535030733 2
64535030734, 4

Question Number : 150 Question 1d : 64635023116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4635090735, 1
64535030736, 2
64535030737, 2
64535030738, 4



